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Question Id : 87827026785 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage of boys and difference between the number of boys and
the number of girls among the students of six different schools A - F, who appeared in Board
Examination during four different years from 2019 to 2022, Based on the data in the table, answer
the questions that follow.

School Wise Details of Number of Students :

Year 2019 2020 2021 2022

Boys | Difference |Boys|Difference|Boys|Difference|Boys|Difference
School \| () O (] O Je O [ 6
A 70 136 60 70 75 134 60 86
40 84 48 18 45 48 60 9%
44 60 55 24 60 52 56 24

B
&
D 44 84 57 84 55 72 65 192
E
F

75 280 60 136 70 264 b6 24
44 90 56 96 65 228 45 84

Where Ditference (*) means difference between number of boys and number of girls

Sub questions



Question Number : 1 Question Id : 87827026786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Considering all the four years together, What is the average number of boys who appeared from

school B ?

(1) 424
(2) 434
(3) 438
(4) 454
Options :
878270105641. 1
878270105642. 2
878270105643. 3

878270105644. 4

Question Number : 2 Question Id : 87827026787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of girls who appeared in the examination from all the six schools in
2020 ?

(1) 1364

(2) 1386

(3) 1404
4) 1414
Options :
878270105645. 1
878270105646. 2
878270105647. 3

878270105648. 4



Question Number : 3 Question Id : 87827026788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ditference between the total numbers of students appearing from school B in 2020 and
that in 2022 ?

(1) 0

(&) 1
@ 29
(4) 35
Options :
878270105649. 1
878270105650. 2
878270105651. 3

878270105652. 4

Question Number : 4 Question Id : 87827026789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of boys who appeared from School Cin 2019 to the number of girls
who appeared from school E in 2021 ?

(1) 5:4

2) 8:7

@) 9:8

4) 10:9
Options :
878270105653. 1
878270105654. 2
878270105655. 3

878270105656. 4

Question Number : 5 Question Id : 87827026790 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

In the year 2019, number of students appearing from School Fis ___ % more than the
number of students appearing from School C:

(1) 40

(2) 66.66

3) 20

(4) 30
Options :

878270105657. 1
878270105658. 2
878270105659. 3

878270105660. 4

Question Id : 87827026785 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827026786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Toft R 9] &1 T Y ook e E 9 e e S # aied 9e fadd g 2
(1) 424

(2) 434
(3) 438
(4) 454
Options :
878270105641. 1
878270105642. 2
878270105643. 3

878270105644. 4

Question Number : 2 Question Id : 87827026787 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

79 2020 § 9t B faaerdl & vdien <7 gl sfersel ®t S g et €2

(1) 1364
(2) 1386
(3) 1404
(4) 1414
Options :

878270105645. 1
878270105646. 2
878270105647. 3
878270105648. 4

Question Number : 3 Question Id : 87827026788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foremer B & & 2020 ¥ 3 2022 ey <3 9 feranfe %1 et G o S S fope 7 7

(1) 0
@ 1
3 29
4) 35
Options:

878270105649. 1
878270105650. 2
878270105651. 3

878270105652. 4

Question Number : 4 Question Id : 87827026789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105653. 1
878270105654. 2
878270105655. 3

878270105656. 4

Question Number : 5 Question Id : 87827026790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

4 2019 ¥, foerert F 3 wliey < ol ool =nt e foraer C 8 wlen < ol fernfel o wen ¥

ferem ftra anfi &7

(1) 40
) 66.66
) 20
) 50
Options :
878270105657. 1
878270105658. 2
878270105659. 3

878270105660. 4
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Question Number : 6 Question Id : 87827026791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which ICT tool allows users to organize and curate content from various sources, such as websites,
articles and videos ?

(1) Edpuzzle

(2) Wakelet

(3) Pixton

(4)  Screen-casto-matic
Options :
878270105661. 1
878270105662. 2
878270105663. 3

878270105664. 4

Question Number : 6 Question Id : 87827026791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fot 9 0 e % 1 €1 e et o armreel, vl @ ol o fafery il 4 fervreg st
I FE FAWE?

1) Tgqwd

ARRCETE
3)  fueed
4)

(
(
(
(4) TR FRI-HEE
Options :
878270105661. 1
878270105662. 2

878270105663. 3

878270105664. 4



Question Number : 7 Question Id : 87827026792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The process of comparing a student’s performance against his/her previous
performance is called as ipsative assessment.

Statement 11:  Authentic assessments are assessment procedures that test skills and abilities as
they would be applied in real life situations.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options:

878270105665. 1
878270105666. 2
878270105667. 3
878270105668. 4

Question Number : 7 Question Id : 87827026792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105665. 1
878270105666. 2
878270105667. 3
878270105668. 4

Question Number : 8 Question Id : 87827026793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the types/sub-types of long term memory ?
(A) Declarative memory

(B) Procedural memory

(C) Episodic memory

(D) Semantic memory

Choose the correct answer from the options given below :

(1) (A), (C) and (D) Only

(2) (B) and (C) Only

(3) (A) and (D) Only

) (A), (B), (O and (D)

Options :
878270105669. 1
878270105670. 2



878270105671. 3

878270105672. 4

Question Number : 8 Question Id : 87827026793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fr= & § F9-3F <eefas @fa & gersy TR 22
(A) ErumeRs Hfd
(B) wrifafis wfa
(C) wEmHE T
(D) emeft wfd
(1) = (A), (©) 3R (D)
(2) < (B) ¥R (C)
(3) A (A) R (D)
4) (4), (B), (C) 3 (D)
Options :
878270105669. 1
878270105670. 2
878270105671. 3

878270105672. 4

Question Number : 9 Question Id : 87827026794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the name of channel (4 in SWAYAM PRABHA related to social science 2, Education,
Psychology, Homescience and related subjects ?

(1) SANSKRITI

(2) SAARASWAT

(3) PRABODH

(4) PRABANDHAN

Options:

878270105673. 1

878270105674. 2

878270105675. 3

878270105676. 4

Question Number : 9 Question Id : 87827026794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105673. 1
878270105674. 2
878270105675. 3

878270105676. 4

Question Number : 10 Question Id : 87827026795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the learner related factors that influence learning ?
(A) Learner’s level of aspiration and achievement motivation
(B) Learner’s readiness and will power
(C) Basic potential of the learner
(D) Learner’s physical and mental health
(E) Personality traits and behaviour of teacher
Choose the correct answer from the options given below :
(1) (A), (B)and (E) Only
() (A), (B), (C) and (D) Only
() (C)and (E) Only
4) (C), (D) and (E) Only
Options:
878270105677. 1
878270105678. 2
878270105679. 3

878270105680. 4

Question Number : 10 Question Id : 87827026795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :



878270105677. 1
878270105678. 2
878270105679. 3

878270105680. 4

Question Number : 11 Question Id : 87827026796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Knowledge is arrived at through the gathering of facts that provide the basis for laws, This refers
to the principle of :

(1) Phenomenalism

(2)  Inductivism

3)  Deductivism

)
)
(3)

(4)  Constructionism
Options :
878270105681. 1
878270105682. 2
878270105683. 3

878270105684. 4

Question Number : 11 Question Id : 87827026796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270105681. 1
878270105682. 2
878270105683. 3

878270105684. 4

Question Number : 12 Question Id : 87827026797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is concerned with the question of whether social scientific findings are
applicable to people’s everyday natural social setting ?
(1) Ecological validity
(2)  External validity
3)  Measurement validity
)

(2

(4)  Face validity
Options :
878270105685. 1
878270105686. 2
878270105687. 3

878270105688. 4

Question Number : 12 Question Id : 87827026797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270105685. 1
878270105686. 2
878270105687. 3

878270105688. 4

Question Number : 13 Question Id : 87827026798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Spearman’s tho (p) is generally employed to measure the strength and direction
of relationship between two ordinal variables.

Statement (II) : Pearson’s coefficient of correlation 't is very useful when relationship between
two variables is curvilinear.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Options :

878270105689. 1
878270105690. 2
878270105691. 3
878270105692. 4

Question Number : 13 Question Id : 87827026798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105689. 1
878270105690. 2
878270105691. 3

878270105692. 4

Question Number : 14 Question Id : 87827026799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

[dentify non-probability samples from the following :

(A) Simple random sample

(B) Quota sample

(C) Systematic sample

(D) Snowball sample

Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (C) and (D) Only

(3) (A), (B) and (C) Only

(4) (B) and (D) Only

Options :
878270105693. 1

878270105694. 2

878270105695. 3



878270105696. 4

Question Number : 14 Question Id : 87827026799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frafafe § 9 Tr-wfaewar afaest =t 9g=m =ifaa
(A) TR Jefess afdey
(B) f7ad AN (=hter) wieaet
(C) =Haftea wfaes
(D) feregs (Fraia) wfaes
(1) e (B), (C) $iR (D)

(2) e (C) SR (D)
(3) ad (A), (B) &R (C)
(4) = (B) @X (D)
Options :

878270105693. 1
878270105694. 2
878270105695. 3

878270105696. 4

Question Number : 15 Question Id : 87827026800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sections of a research report are not considered for similarity checks while
detecting plagiarism ?

(A) Abstract

(B)  All generic terms, laws

(C) Observations

(D) Conclusions

(E) Bibliography

Choose the correct answer from the options given below :

(1) (A), (B) (C) and (D) Only

(2)  (B)and (E) Only

3) (E)Only

) (0, (D) and (E) Only

Options:
878270105697. 1
878270105698. 2

878270105699. 3

878270105700. 4

Question Number : 15 Question Id : 87827026800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105697. 1
878270105698. 2
878270105699. 3

878270105700. 4

Question Number : 16 Question Id : 87827026801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When people intend meanings in their communication, they are dealing with :

(1) Projective time

(2) Fragmented time

(3) Perceptual time
)

(4) Psychology of time

Options :

878270105701. 1
878270105702. 2
878270105703. 3

878270105704. 4



Question Number : 16 Question Id : 87827026801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S9N o g § 319 TwiEd B €, o o frefafea 9 gefua 2 €

(1) eId 994

() @fred §94

(3) WICAlEF HHE
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Options :

878270105701. 1
878270105702. 2
878270105703. 3

878270105704. 4

Question Number : 17 Question Id : 87827026802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

According to the semiotic tradition, communication is
(1)  Extra-subjective
2)  Non-subjective

) Inter-subjective

)

_ mediation of signs :
(
(3
(4) Macro-subjective
Options :
878270105705. 1
878270105706. 2
878270105707. 3

878270105708. 4

Question Number : 17 Question Id : 87827026802 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tehd-fagm T & STER, TEWT Hhdl 6t TR ¢ |
(1) @ferer-eafaafs
2) R-=AfwETS
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Options:

878270105705. 1
878270105706. 2
878270105707. 3

878270105708. 4

Question Number : 18 Question Id : 87827026803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Buddhists use communication to highlight the phenomena of :
(A) Human hierarchy

(B) Impermanence

(C) Human suffering

(D) Non-self

(E) Social distance

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (), (D) and (E) Only

(4) (A), (D) and (E) Only

Options:
878270105709. 1

878270105710. 2

878270105711. 3



878270105712. 4

Question Number : 18 Question Id : 87827026803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
aiig @ =i w1 v Frefafea aftens i ger ' 8 T ¥ far e
(A) HAME GO
(B) TRl
(C) a3 UM
(D) TR-&TH
(E) wriomp gif
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Options :

878270105709. 1
878270105710. 2
878270105711. 3

878270105712. 4

Question Number : 19 Question Id : 87827026804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are social emotions displayed during inter-personal communication ?
(A) Embarrassment

(B) Guilt

(C) Shame

(D) Pride

(E

) Jealousy
Choose the correct answer from the options given below :

1) (A),( )and( ) Only
(2) (A), (C) and (D) Only

(3) (A), (B), (C )and (D) Only
@ () (8) () (D)and (B
Options:

878270105713. 1
878270105714. 2
878270105715. 3

878270105716. 4

Question Number : 19 Question Id : 87827026804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frafafes & 9 SF-0 gmifes weem § o< siae-oafaas 990 % SRA <o o & 2

NREEREIEET

(B) SIS

(C) et

D) ™

E 3=

< fou o fosed! § 9 W@ I 1 95 i ;
(1) & (A), (B) 3 (C)

() = (A), (C) R (D)

(3) % (A), (B), (O &R (D)

(@) (A), (B) (C), (D) 3 (E)



878270105713. 1
878270105714. 2
878270105715. 3

878270105716. 4

Question Number : 20 Question Id : 87827026805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Non-verbal emotional expression precedes verbal communication in human life.
Statement (II) : Socialisation inculcates display norms for appropriate emotional communication.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect

)

)

(
(3
(

Statement | 15 correct but Statement 1l is incorrect

Statement 1 is incorrect but Statement I is correct

Options :

878270105717.1
878270105718. 2
878270105719. 3

878270105720. 4

Question Number : 20 Question Id : 87827026805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ﬁﬁmﬁum%:

FoA (1) : -y o sfveafad wa siteq | wfsss S0 § weel 2t €|
T (1) : TSR T WA Ty % e Tev A 1 safaf # g
SR FI & A 5, 1+ fou 7 fomel § 4 ved Iuge I 1 9 Fif
(1) a1 3 e 11 S o &

() TR FII I T &

(3) HUALTE ¢, ol HIA 1 T ¢

(4) R 1T &, AT HOR 1T &

Options:

878270105717. 1
878270105718. 2
878270105719. 3

878270105720. 4

Question Number : 21 Question Id : 87827026806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n a certain code :

"He 15 a world champion’ is written as ‘ya, sa, za, ma, ka’, "World is a family” is written as 'ma, sa,
ba, za' ‘Being champion is difficult’ is written as fa, sa, da, ka’. What are the codes for ‘champion’
and 'is' ?

(1) za,sa

(2) ma,sa

(3

)
) ka, sa
@)

ma, ka
Options :
878270105721. 1
878270105722. 2
878270105723. 3

878270105724. 4



Question Number : 21 Question Id : 87827026806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Hiaud F2 ¥,

‘o U foava fasiar & &1 ‘o, @, o, | ' S w9 H foran S ¥,
‘fova w aferR &' 1 =, W, S w9 H forar S R,
foem e wfea e ®'F, W, 9, /' F I H formr 9 € @
“Fostar’ 9 ‘%' F fau s g2 &2

(1) =, -1
(2) HIL |
(3) I &I
(4) HI, =Rl
Options :

878270105721. 1
878270105722. 2
878270105723. 3

878270105724. 4

Question Number : 22 Question Id : 87827026807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Determine the next term in the following letter - cum - number series :
A2, BOX, CoW, DTV s P

(1) EBU
(2) ElIK
3) EI1l]
4) EeU
Options :

878270105725. 1

878270105726. 2



878270105727. 3

878270105728. 4

Question Number : 22 Question Id : 87827026807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

e S1ER-Te- 3 g@et § el Ug ok ¥R #ife .
A2Y, B3X, C6W, D7V, _ 2

(1) EBU
(2) EllK
&) Elll
(4) EsU
Options :

878270105725. 1
878270105726. 2
878270105727.3

878270105728. 4

Question Number : 23 Question Id : 87827026808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money is lent at a compound interest rate of 10% per annum payable half-yearly.
What is the effective annual rate of interest ?
(1) 10.10%

(2) 10.16%

(3) 10.20%

(4) 10.25%
Options :

878270105729. 1
878270105730. 2

878270105731. 3



878270105732. 4

Question Number : 23 Question Id : 87827026808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FHHAT SR 1 i &9 & 9 10% i Thafs o R F0 F €99 G T &1 I

& o At @ 2

(1) 10.10%

(2) 10.16%
) 10.20%
) 10.25%
Options:
878270105729. 1
878270105730. 2
878270105731.3

878270105732. 4

Question Number : 24 Question Id : 87827026809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ram can finish a work in 18 days. Shyam is twice as efficient as Ram. If both of them start the
work together, how many days it will take them to finish the work ?

(1) 6 days

(2) 8days
(3) 9 days

(4) 12 days
Options :
878270105733. 1
878270105734. 2
878270105735. 3

878270105736. 4



Question Number : 24 Question Id : 87827026809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T T 7 1 18 T & T U9 &1 T R gor o v S e g | A o S O e
R FL A 3% A T w0 ¥ T fod w2

(1) 6fe

) 8fd

(3) 9fH

@) 12fH
Options :
878270105733. 1
878270105734. 2
878270105735. 3

878270105736. 4

Question Number : 25 Question Id : 87827026810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a class there are 8, 10, 25 and 17 students having their weights in the following ranges : 50 - 54
kg, 54 - 58 kg, 58 - 62 kg and 62 - 66 kg, respectively. What is the mean weight of a student of the
class ?

(1) 55.6 kg

(2) 565 kg

(3) 94 kg
(@) 602kg

Options:
878270105737. 1

878270105738. 2

878270105739. 3



878270105740. 4

Question Number : 25 Question Id : 87827026810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
F F& H 8, 10,259 17 foenfeal o oo 59 5054 Fam, 54-58 o, 58 - 62 fm. 9 62- 66
frm = A %1 o1 & 0 o 0 e e e €7
(1) 5.6
(2) 565w,
(3) 594 6.
(4) 602 .
Options :
878270105737. 1
878270105738. 2
878270105739. 3

878270105740. 4

Question Number : 26 Question Id : 87827026811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged is order of increasing connotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)  Amimal, vertebrate, mammal, bovine, cow

Options :

878270105741. 1
878270105742. 2
878270105743. 3

878270105744. 4



Question Number : 26 Question Id : 87827026811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad § § SF-1 e F Jed o1y § Srafem g2
(1) T, 7T, SaE, w9, 19

(2) AT, FRER], T E, TY, T

(3) HIIERI, WY, T, TSI, T

(4) T, HIER!, WEIEL, TIGE, T

Options :

878270105741. 1

878270105742, 2

878270105743. 3

878270105744. 4

Question Number : 27 Question Id : 87827026812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  The concept of validity cannot be applied to single propositions.
Statement II:  The concept of truth cannot be applied to arguments.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
2)  Both Statement I and Statement II are incorrect

)

)

(
(3
(4

Statement | is correct but Statement Il is incorrect
Statement [ s incorrect but Statement Il 1s correct

Options :
878270105745. 1

878270105746. 2

878270105747. 3



878270105748. 4

Question Number : 27 Question Id : 87827026812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EHET IR R

FOAL: A F Fhed Tha Fagifiadl T AT Tl & TRl 2 |
FAA: T Fehed JfRm W ST Ta & Tl ¢ |

TR FU & e 8, = fo m fowed § § wed Suge IR i 99 Fife
(1) oA I 3T e 11 <HT T8 &

(2) HUFI 3R FHI I T e §
(3) U LFE &, wifehd A 1L 7Terd &
(4) YA [T 8, AR R [ HE #

Options :

878270105745. 1
878270105746. 2
878270105747. 3

878270105748. 4

Question Number : 28 Question Id : 87827026813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which fallacy in committed in the following argument “What is good for each individual type of

business cannot be bad for economy as a whole”. ?
(1) Red herring

(2) TFallacy of composition

(3) Slippery slope

(4)  False cause

Options :

878270105749. 1



878270105750. 2
878270105751. 3

878270105752. 4

Question Number : 28 Question Id : 87827026813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
fretferfign ofs § @ @ o < Fifea & - 9 70 wfied YR F wE & fou o 3 § 9
e areferary F fou e T @ s e ?
® R

Options :

878270105749. 1
878270105750. 2
878270105751. 3
878270105752. 4

Question Number : 29 Question Id : 87827026814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The statement “Swati's mind is a tree always laden with fruitful ideas” is an
analogy.

Statement II:  The statement “Swati’s mind is a tree always laden with fruitful ideas” is only
descriptive in nature.

In the light of the above statements, choose the most appropriate answer from the options given

below :

()
o
(3) Statement I is correct but Statement Il is incorrect
@

Both Statement I and Statement II are correct
Both Statement I and Statement Il are incorrect

Statement [ is incorrect but Statement 11 is correct
Options :

878270105753. 1

878270105754. 2

878270105755. 3

878270105756. 4

Question Number : 29 Question Id : 87827026814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T q Fom UM g

T T O 9 E; S ged IR o & e " €1 - 7 F O €
T T P O 9, W Hea S fo W @@ T § 1 - T8 Fo e e ¢ |
TR TR & el §, T fou T foeredl H | W e I T Hif

(1) U1 S e 1S R

(2) YR ST HI I T €

() FURITE &, o HUF 1 T &

(4) RO Lo €, Wi e 1 &

Options :
878270105753. 1
878270105754. 2

878270105755. 3



878270105756. 4

Question Number : 30 Question Id : 87827026815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Among the five propositions in Nyaya syllogism the first (pratigia) coincides with
the fifth (nigaman).

Statement I1:  Among the five propositions in Nyaya syllogism the second (hetu) coincides with
the fourth (Upanaya).

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement Il is correct
Options :

878270105757. 1
878270105758. 2
878270105759. 3

878270105760. 4

Question Number : 30 Question Id : 87827026815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



LECERINH R

FH: I A e vt ¥ F gom (i) g9 (F) & orges 3 g
FAI: e = § O ot | 9 fde (1) %lg?i 30T % 369 el ¢ |
T B F e 5, A o T fomed § 9§ ued Suge I F1 99 Hif

(1) e 1 3 e 1 < o &

(2) R 3R FHIA S T &

(3) HARITE 2, A woR 11 TTerd &

(4) YR LT &, AR A L FE &

Options:

878270105757. 1
878270105758. 2
878270105759. 3

878270105760. 4

Question Number : 31 Question Id : 87827026816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : (21E);, = (341)y,
Statement (II) : (257);, = (101);,

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2
(3
(4

) Both Statement I and Statement II are incorrect
) Statement | is correct but Statement 11 is incorrect
) Statement I is incorrect but Statement I is correct

Options :

878270105761. 1
878270105762. 2
878270105763. 3

878270105764. 4



Question Number : 31 Question Id : 87827026816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= SITHeE 9 WeW ek Yomferdl W SeTia < weA fou M g

FHT(): (2E)y, = (541)y,

HI (ID) : (257)y5 = (101),4

ST FOF & T §, A9 T T fowed § ¥ uad Iuged IR T wif
(1) oA 1 3 &M 11 <Hi Te &

(2) YA SR HIR 1 T e &
(3) YA LFE &, wifehd A LI 7Terd @
(4) AL &, AfhT HIT U HE ¢

Options :

878270105761. 1
878270105762. 2
878270105763. 3

878270105764. 4

Question Number : 32 Question Id : 87827026817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  The most suitable storage medium for storing data on network server s a blu-ray
dlisc.

Statement (I) : An optical disc which cannot have data updations is a CD - ROM.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect
)

(4) Statement I is incorrect but Statement II is correct



Options :

878270105765. 1
878270105766. 2
878270105767. 3
878270105768. 4

Question Number : 32 Question Id : 87827026817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
EEEE AR e
FUA (1) : 2T Hol T SRT YERT oY WAl SUgE WeRm WAy w1 fei 7
HUA (1) : F -1 37 T 7% yEwiE fer ot © o e ere T @ g €
TR HYA % e ¥, 1= T T fowed § 3 Wel Iuged IR F 99 i
(1) A 1 S e 11 ST Tt 2
(2) U1 S R T e
(3) TR IHE 8, Tl IR 1 Terd &
(4) IR 1T T, AR RO N TE §
Options :
878270105765. 1
878270105766. 2
878270105767. 3

878270105768. 4

Question Number : 33 Question Id : 87827026818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement (I) :  Webex by Dell Technologies, is the leading enterprise solution for video
conferencing, online meetings, screen share, and webinars,

Statement (II) : GIF is an image file format and stands for Graphics Interactive Format.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2)
(3) Statement I is correct but Statement II is incorrect
@)

Both Statement I and Statement Il are incorrect

Statement 1 is incorrect but Statement 11 is correct

Options :

878270105769. 1
878270105770. 2
878270105771.3

878270105772. 4

Question Number : 33 Question Id : 87827026818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR Frfoum e
T (1) : S0 SHIANE Fl J9 Afeq FhY, AT 905, Thit Tedo AR AR TG
TTFH T (TEH) )

T (1) : S o TF T o T o1 € SR 25 0 ®Y WiRe $eNufRd W |
TR T F e 5, e e el § 4 e U T 9 i
(1) e HA N T8 &

() IR KR T

) TR T ol FIR LT &

(4) I LT ¢, il B LT &
Options :

878270105769. 1
878270105770. 2

878270105771.3



878270105772. 4

Question Number : 34 Question Id : 87827026819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A musician uses a broadband Internet connection to download music. In this context, which of
the following statements are true ?
(A) Some rural areas in India have poor broadband access.
(B) There is no need to dial up, broadband is always connected.
(C) You cannot use the landline phone at the same time while using the broadband Internet.
Choose the correct answer from the options given below :
(1) (A)and (B) Only

() (A)and (C) Only
(3) (B)and (C) Only
) (A),®and

Options :

878270105773. 1
878270105774. 2
878270105775.3

878270105776. 4

Question Number : 34 Question Id : 87827026819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Wiicen 9 SR H o F1E98 3201 i 1 W i ¢ | WH A, e an g
TR E!

(A) T H %@ T &5 H STeds 39 g ¢

(B) S A 1 IS A Tl €, 1T T 0 T B

C) IEHE 3THE FT T H WA AV AT B 1 TAN T B T ¢

e fou o fommedt o @ W I F T FHifow

Options:

878270105773. 1
878270105774. 2
878270105775. 3

878270105776. 4

Question Number : 35 Question Id : 87827026820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II

(Software) (Most appropriate use)
(A) Desktop publishing software  (I)  Keeping records of employees of large organisation
(B) Presentation software (Il)  Matching illness to symptoms
(C) Inference Engine (II) Producing a multimedia slideshow
Database software (IV) Producing a magazine

D)
Choose the correct answer from the options given below :

(1) (AHIV), (B) (I, (C) (1D, D)-
@ (A}), BRI, ©-(I), O)-1V)
() (AHIV), (B)- (Hl) -, O-(0)
(@) (AR, E)-0), ©-0, O)-AV)

Options :



878270105777. 1
878270105778. 2
878270105779. 3

878270105780. 4

Question Number : 35 Question Id : 87827026820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tell-1 & T Gel-1l 1 e i

gel-| gell-11

( HiwEa ) (raifires 3UgEa v )
(A) @Y Tfsf¥iT dRaR () 99T ¥ FHErE & diemEl & EEE
(B) TSy TiwRaR () <o 1 e @ faem S
) FFE I () Wt wifean wiee 9 s
(D) STy Hwa (V) wf e
= fqu e fosedi § & W S T FIC
(1)  (A}1V), (B)-(I), (C)-(Im), (D)-(T)
2) (A}, (B)-(), (1D, D)-IV)
(3)  (A}(1IV), (B)-(I), (C)-(), (D)-(T)
(4) (A, B, (©)-O. D)-V)
Options :

878270105777. 1
878270105778. 2
878270105779. 3

878270105780. 4

Question Number : 36 Question Id : 87827026821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  The total solids (dissolved and suspended) in a waste water sample are the
materials left after water has evaporated from the sample.

Statement I1:  The dissolved solids fraction usually includes colloidal particles.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270105781. 1
878270105782. 2
878270105783. 3

878270105784. 4

Question Number : 36 Question Id : 87827026821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T F fum e
FOL: A A & T H 5 o (fomtm ol felfen) T 3 9@ % avigd 3 F 9.
e i 2

o 11 ;  foa 3rg o & S #iee Fv i 8 €

TR T F e 5, e e el § 4 e U T 9 i
(1) e HA N T8 &

() IR KR T

) TR T ol FIR LT &

(4) I LT ¢, il B LT &
Options :

878270105781. 1
878270105782. 2

878270105783. 3



878270105784. 4

Question Number : 37 Question Id : 87827026822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : When a hazardous waste has either high or low pH value, it must be treated for
neutralization before discharge.

Statement (II) : Sulfuric acide and Hydrochloric acids are added to hazardous waste with low
pH value to neutralise it

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270105785. 1
878270105786. 2
878270105787. 3

878270105788. 4

Question Number : 37 Question Id : 87827026822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



TS Fo feum §:
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Options:

878270105785. 1
878270105786. 2
878270105787. 3

878270105788. 4

Question Number : 38 Question Id : 87827026823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following gases were covered under Kyoto Protocol ?
(A) Carbon dioxide (CO,)

(B) Methane (CH,)

(C) Nitrogen dioxide (NO,)

(D) Nitrous oxide (N,O)

(E) Sulfur dioxide (50,)

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), {B ) and (C) Only

(3) (B), (C) and (D) Only

@) () {D ) and (E) Only

Options :

878270105789. 1



878270105790. 2
878270105791. 3

878270105792. 4

Question Number : 38 Question Id : 87827026823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Fopetfetfias & & = o T = STl ® siara e o 2
(A) A SESAFRS (COy)
(B) HI% (CH,)
(C) -TEENH SRATFES (NO,)
(D) ELH AHES (N,0)
(E) HH SEATHEES (SO,)

== fou v fawregi § 9 W& ST F =TI HifIC ;

(1) ed (A), (B) &R (D)
(2) ad (A), (B) &R (C)
(3) @ (B), (C) &R (D)
4) e (O), (D) ¥R (E)
Options :

878270105789. 1
878270105790. 2
878270105791. 3
878270105792. 4

Question Number : 39 Question Id : 87827026824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Temperature inversion in the atmosphere mainly causes ?
(1) Dust storm

(2) Dispersion of air pollutants

(3) Accumulation of air pollutants

(4) Ozone depletion

Options :

878270105793. 1

878270105794. 2

878270105795. 3

878270105796. 4

Question Number : 39 Question Id : 87827026824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT H ATIHM 1 FoRY 38 § TR T FR § 2
() e S

(2) STIHGIR TR

(3) T WEH FT H

@) el FEeE

Options :

878270105793 1

878270105794, 2

878270105795 3

878270105796. 4

Question Number : 40 Question Id : 87827026825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in increasing order of DDT concentration among them as a result of
bioaccumulation/accumulation :

(A) Fish

(B) Water body

(C) Fish eating birds

(D) Zooplanklons

Choose the correct answer from the options given below :

M () 6) 0,0
QB 0@

) () )
G © O) @A) 6
(@) () (4), (©), D)

Options:

878270105797. 1
878270105798. 2
878270105799. 3

878270105800. 4

Question Number : 40 Question Id : 87827026825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Frefefiaa 1 o e aear & TROTEa®Y 370 SIe1d) & Fohall o &) #o | ofaften Fife
(A) r@vﬁ
(B) el
(@) mwm&ﬂ
(D) Tiftrerarh
T fou o fomred! # @ W I H T Ffo0

Options :
878270105797. 1

878270105798. 2



878270105799. 3

878270105800. 4

Question Number : 41 Question Id : 87827026826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following has been described as the Magna Carta of Indian education ?
(1) The Indian universities Act, 1904
(2) Hunter commission report
(3) Sargent plan
(4) The Education Dispatch of 1854
Options :
878270105801. 1
878270105802. 2
878270105803. 3

878270105804. 4

Question Number : 41 Question Id : 87827026826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e o & frd aredtg foren s wRifenr- 95 &l 79 © 2
(1) wrdra favafaarea sfafaam, 1904

(2) B A gfdecA

(3) Wi AT

(4) 1854 =1 forem T (fedi=)
Options :

878270105801. 1
878270105802. 2
878270105803. 3

878270105804. 4



Question Number : 42 Question Id : 87827026827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In its early years, the calcutta university had affiliated colleges even in :

(1) Afghanistan
(2) Kashmir
(3) Sri Lanka (Ceylon)
(4) Goa
Options :

878270105805. 1
878270105806. 2
878270105807. 3
878270105808. 4

Question Number : 42 Question Id : 87827026827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Ry g9 § e favafamem & = 4 o 99 gefaamE 9.

(1)  STEMEH
(2) FER
(3) e (Fem)
(4) T
Options:

878270105805. 1
878270105806. 2
878270105807. 3
878270105808. 4

Question Number : 43 Question Id : 87827026828 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I1
(Pre-Indepence College) (Place)
(A) Reid college () Allahabad
(B) Forman college (I) Aligarh
(C) Muir central college (III) Lucknow
{D) Anglo oriental college (IV) Lahore

Choose the correct answer from the options given below :
(1) m)- I), {B -(ID, (C)-(111), (D)-(IV)

(2) (A, {III} C)-(IV), (D)~(T)

@) (A (111), (B)-(IV), (©)-(1), (D)-(11)

) A) (IV), (B)-(I), (C)-(IT), (D)-(IIT)

Options :

878270105809. 1

878270105810. 2

878270105811. 3

878270105812. 4

Question Number : 43 Question Id : 87827026828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Geil-1 & Ty gei-11 %1 fierm wifsn
Tell-1 Tt-11

(TEeET gd Hefaeed ) (7am)
(A) TS FrIw () scIemEE
(B) TRITHA STerst (II) STeTTg
(C) T H2d Hersl (IIl) &S
(D) Ural-Sdza et (IV) RR

e feu 7 fawedi d © W SO 1 994 ST
(1) (A)-(D), (B)-(1D), (C)-(IH) (D)-(IV)

(2)  (A)-(1D), (B)-(I11), ) (D)-(I)

(3) {A) ~(IIn), (B)-(IV), (C)-(I) (D)-(10)

) (A)IV), (B)-(I), (C)-(II), (D)~(ILI)
Options:

878270105809. 1

878270105810. 2

878270105811.3

878270105812. 4

Question Number : 44 Question Id : 87827026829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  In Nalanda, apart from Buddhist canonical texts, the vedas were also taught.

Statement II: However, attempts were made to discourage the teaching of literature of the
rival religions.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

(3) Statement I is correct but Statement II is incorrect

@)

Both Statement I and Statement Il are incorrect

Statement 1 is incorrect but Statement 11 is correct

Options :



878270105813. 1
878270105814. 2
878270105815. 3

878270105816. 4

Question Number : 44 Question Id : 87827026829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105813. 1
878270105814 2
878270105815. 3

878270105816. 4

Question Number : 45 Question Id : 87827026830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  India spends one of the lowest amounts per student for higher education in the
world.

Statement II:  The percentage expenditure on university and higher education in India was
(.77 percent in 1990 - 91 and it declined to 0.66 percent in 2004 - 2005,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
)

)

(3
(4

Statement | 1s correct but Statement 1l 1s incorrect
Statement [ is incorrect but Statement 11 is correct

Options :

878270105817. 1
878270105818. 2
878270105819. 3

878270105820. 4

Question Number : 45 Question Id : 87827026830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁmﬁum%:
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Options :
878270105817. 1

878270105818. 2



878270105819. 3
878270105820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701163
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827026831 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Over the past 160 years, life expectancy in the industrialized world has increased at the steady
rate of a quarter year every year. At first, the change was driven by the spread of things today
often taken for granted : clean water, sewage and waste disposal, better nutrition, vaccines, and
antibiotics. By the late 1970s, these innovations had reached the point of diminishing returns, yet
at almost the same time, new technologies began to produce real gains in the fight against the most
deadly remaining threats : cancer, heart disease, and strokes. Even counting the least development
countries, the average person worldwide can expect to live to nearly 70 up from the mid 30s at the
turn of the twentieth century.

Though, the future is certainly impossible to predict, many forward looking thinkers have begun
to broach the possibility that at some point in the next twenty years a child will be born who will
live to the now unimaginable age of one hundred forty; his of her children may, in turn look
forward to a world in which there exists no “Natural” limit on the age to which one might expect
to live. Barring random accident or deliberate homicide, men and women separated from us by
only two generations might live indefinitely. In principle, all that is required is for technology to
continue advancing faster than one ages.

Such optimism must, however, be tempered with an awareness of life's social and physical limitations.
Today’s developing technologies will no doubt be expensive and increasingly so at the upper ends
of the age spectrum, further increasing the gap between rich and poor. As lifespan increases,
previously rare maladies will loom even larger. Alzheimer’s, a growing threat to today’s elderly,
was almost unknown before the 19505, primarily because, statistically speaking most people died
before symptoms developed.

Sub questions

Question Number : 46 Question Id : 87827026832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The increase in life expectancy was initially due to the availability of :
(A) New technologies

(B) Clean water

(C) Vaccines

(D) Antibiotics

(E) Better nutrition

Choose the correct answer from the options given below :
(1) (A), (©), (D) and (E) Only

(2) (A) and (D) Only

(3) (B), (C), (D) and (E) Only

4) (A) and (C) Only

Options :
878270105821. 1
878270105822. 2

878270105823. 3

878270105824. 4

Question Number : 47 Question Id : 87827026833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Many “forward looking thinkers” predict that in the next twenty years, life expectancy will :
(1) Increase marginally
2)  Decrease

) Remain static

)

(
(3
(4) Increase dramatically
Options:
878270105825. 1
878270105826. 2
878270105827.3

878270105828. 4



Question Number : 48 Question Id : 87827026834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Alzheimers, was almost unknown before the 1950's because :
(1) People were healthier.
(2) They took proper nutrition.
(3) People died before the onset of the disease.
(4) People did physical work.
Options :
878270105829. 1
878270105830. 2
878270105831. 3

878270105832. 4

Question Number : 49 Question Id : 87827026835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is true about promising new technologies ?

(A) They will be expensive for older people

(B) They will give rise to rare maladies

(C) They will increase the gap between the rich and the poor
(D) They will be harmful

Choose the correct answer from the options given below :

(1) (A) and (C) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (C) and (D) Only

Options :
878270105833. 1

878270105834. 2

878270105835. 3



878270105836. 4

Question Number : 50 Question Id : 87827026836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Promising new technologies will not increase the life span of the people living in
the least developed countries.

Statement (II) : Promising new technologies to extend human lifespan will successfully overcome
all social and physical limitations.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270105837. 1
878270105838. 2
878270105839. 3

878270105840. 4

Question Id : 87827026831 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827026832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) e
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(E) | 999y
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(2) A (A) SR (D)

(3) %9 (B), (O), (D) 3 (E)
(4) hE (A) 3R (Q)
Options:

878270105821. 1
878270105822. 2
878270105823. 3

878270105824. 4

Question Number : 47 Question Id : 87827026833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
ek 'yl ol 1 qaEE € R ol ot ol § Se-gafemd |
(1) gt
()
(3) e fer
(@) gt
Options :
878270105825. 1
878270105826. 2
878270105827. 3
878270105828. 4



Question Number : 48 Question Id : 87827026834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270105829. 1
878270105830. 2
878270105831. 3
878270105832. 4

Question Number : 49 Question Id : 87827026835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) & fazer il &1 51 < |
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(4) el (C) #R (D)

Options :



878270105833. 1
878270105834. 2
878270105835. 3

878270105836. 4

Question Number : 50 Question Id : 87827026836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105837. 1

878270105838. 2

878270105839. 3

878270105840. 4

Comparative Literature

Section Id : 878270755
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701164
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827026837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A style of artistic composition which arose with a combination of Sanskrit poetry and local prose
in South is called :

(1) Sangam

(2) Mani - Pravala
(3) Champu

(4)  Apabhramsa
Options :

878270105841. 1
878270105842. 2
878270105843. 3

878270105844. 4

Question Number : 51 Question Id : 87827026837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105841. 1
878270105842. 2
878270105843. 3
878270105844. 4

Question Number : 52 Question Id : 87827026838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Ram Katha is enacted in Thailand under the name :
(I) Ram-Katha
) Ramakein
(3) Rammana
)

Ramayana
Options :
878270105845. 1
878270105846. 2
878270105847. 3
878270105848. 4

Question Number : 52 Question Id : 87827026838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) TH-"
(2) THEHM
(3) A
(4) THMETM
Options:

878270105845. 1
878270105846. 2
878270105847. 3
878270105848. 4

Question Number : 53 Question Id : 87827026839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Emma has a central but wholly assimilated influence on :
(1) The Pride and Prejudice
(2) Portrait of a Lady
(3) The Middle Age of Mrs. Eliot
(4)  The Middlemarch
Options :
878270105849. 1
878270105850. 2
878270105851. 3

878270105852. 4

Question Number : 53 Question Id : 87827026839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105849. 1
878270105850. 2
878270105851. 3
878270105852. 4

Question Number : 54 Question Id : 87827026840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ancient grammar of literature in Tamil is called

(1) Apam

2) Puram

(3) Karup Porul

(4) Tolkappiyam
Options :

878270105853. 1
878270105854. 2
878270105855. 3

878270105856. 4

Question Number : 54 Question Id : 87827026840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dffer # wifee & 9= St i Fed €

(1) &9H

(2) 9

(3) o9 dEd

(4) dreERTEH
Options:

878270105853. 1
878270105854. 2
878270105855. 3
878270105856. 4

Question Number : 55 Question Id : 87827026841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is the founding father of Antipodean Comparative Literature ?
(1) Hutcheson Masaulay Posnett

(2)  Arthur Marsh

(3) Charles Mills Gayley

(4) Newton Stallknecht

Options :

878270105857. 1

878270105858. 2

878270105859. 3

878270105860. 4

Question Number : 55 Question Id : 87827026841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



= § % 20 fhg faudta germere arfecr & dremdt firar & 9 § SMd € 2
(1) &9 T8t IR

(2) TR A

(3) Hed Hied el

(4) I W=
Options:

878270105857. 1
878270105858. 2
878270105859. 3
878270105860. 4

Question Number : 56 Question Id : 87827026842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose from the given options, who had said the following :
“There is ordinarily no full equivalence between code units”.

(1) John Dryden

(2) RogerT. Bell

(3) Alexander Fraser Tytler
)

(4) Roman Jakobson
Options :

878270105861. 1
878270105862. 2
878270105863. 3

878270105864. 4

Question Number : 56 Question Id : 87827026842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fau 7Tu foeredi & § 94 fof T Saea fRaam 82

"ohre HHEl % we A fedl o weRR quf e T a )
(1) M gReA

(2) TR&A I

(3) TAT={ WE TR

(4) U FAREEA

Options:

878270105861. 1
878270105862. 2
878270105863. 3
878270105864. 4

Question Number : 57 Question Id : 87827026843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct option :

Hindi play, Kaliyuga Natak by Anand Prasad Khatri is an Indianized version of Shakespeare’s
King Lear in Parsi Theatre style, though in chaste Hindi. The Hindi play is an example of ______
(1) Transcreation

(2
(3
(4

) Adaptation
) Performativity
) Westernization
Options :
878270105865. 1
878270105866. 2
878270105867. 3

878270105868. 4

Question Number : 57 Question Id : 87827026843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
e
A YT Bl g e ot e e’ e, SR & T R T o e e
¥t # e fiedh B et vfoe €1 9% fodt w0 emm € -
(1) wfdered

(2) Ao

(3) e/

(4) Tl

Options :

878270105865. 1

878270105866. 2

878270105867. 3

878270105868. 4

Question Number : 58 Question Id : 87827026844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct option :

Hindi Visva Kosa compiled by Nagendranath Basu was based on Bengali Visoa Kosa, published in
the year __
(1) 1931

(2) 1911
(3) 1901
4) 1899
Options :

878270105869. 1
878270105870. 2
878270105871. 3

878270105872. 4

Question Number : 58 Question Id : 87827026844 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Hﬁﬁﬂa‘v‘lﬂ‘-{
e forva " fomenT e T 19 AT 3 oo 7 o forve R R e o, SR T

) 1931
) 1911
) 1901
) 1899
Options :
878270105869. 1
878270105870. 2
878270105871.3

878270105872. 4

Question Number : 59 Question Id : 87827026845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is not a translation of Henrick Ibsen’s Doll’s House ?

(1)  Khelaghar

(2) Dlinagli

(3) Gudya ka Ghar

(4)  Monna Vanna
Options:

878270105873. 1
878270105874. 2
878270105875. 3

878270105876. 4

Question Number : 59 Question Id : 87827026845 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I T8 & T Ted T @ A H S o1 se TE § 7

(1) e

(2) ‘oAt

{3} +¢Wmm?!

{4) “.Iﬂ_'ﬂ-a]:ﬂ-”
Options :

878270105873. 1
878270105874. 2
878270105875. 3

878270105876. 4

Question Number : 60 Question Id : 87827026846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who said the following :

Everywhere there is connection, everywhere there s illustration. No single event, no single literature
is adequately comprehended except in relation to other events, to other literature.
(1) T.S.Eliot

(2) W.B. Yeats

(3) Matthew Arnold

(4) Philip Larkin

Options:

878270105877. 1

878270105878. 2

878270105879. 3

878270105880. 4

Question Number : 60 Question Id : 87827026846 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e o fopman 87
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Options :

878270105877. 1
878270105878. 2
878270105879. 3

878270105880. 4

Question Number : 61 Question Id : 87827026847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which University established a full-fledged department of Comparative Literature in 1956 ?
(1)  Jadavpur University

(2)  University of Delhi

(3) Calcutta University

(4)  University of Allahabad

Options:

878270105881. 1

878270105882. 2

878270105883. 3

878270105884. 4

Question Number : 61 Question Id : 87827026847 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

ferg forafermmers = 971956 ¥ 0 fohfi qermre wifec 1 fasm wfid foean?
(1) SoEq fovafammea

2) feeell fovafomma

3) i favafasrem

)
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(
(4
Options :

878270105881. 1
878270105882. 2
878270105883. 3

878270105884. 4

Question Number : 62 Question Id : 87827026848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The essay “What is Art” 1s written by :
(1) K. Krishnamoorthy

(2) Abhinavagupta

(3) Rabindranath Tagore

(4)  Sri Aurobindo

Options:

878270105885. 1
878270105886. 2
878270105887. 3

878270105888. 4

Question Number : 62 Question Id : 87827026848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
‘et o © ' A ey feen fomar #72
(1) < P

2) ST
(3) ey TR
) 4t sRfa=
Options :

878270105885. 1
878270105886. 2
878270105887. 3

878270105888. 4

Question Number : 63 Question Id : 87827026849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Anandvardhan’s entire theory of literature was based on :
(1) Bhatrihari's interpretation of the concept of meaning
(2) Kuntak's concept of obliquity
(3) Patanjali’s cognitive process of the Absolute
(4) Bharata’s theory of rasa

Options :

878270105889. 1

878270105890. 2

878270105891. 3

878270105892. 4

Question Number : 63 Question Id : 87827026849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A4 o HreA w1 T fagia e #
(1) 4geR & =1 & fagia =t =men ®

(2) FF % Tehifaa & HFEa T

(3) Tdsel o YU % IS GRS W
(4) wa* W Hga®

Options:

878270105889. 1
878270105890. 2
878270105891. 3
878270105892. 4

Question Number : 64 Question Id : 87827026850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kuntak’s compositional obliquity (Prabandha Vakrata) is said to bear the combined complex of :
(1)  Phonetic obliquity, lexical obliquity and episodic obliquity
(2) Phonetic obliquity, lexical obliquity and grammatical obliquity
(3)  Phonetic obliquity, lexical obliquity, grammatical obliquity and sentential obliquity
)

(4)  Phonetic obliquity, lexical obliquity, grammatical obliquity, sentential obliquity and episodic

obliquity
Options :
878270105893. 1
878270105894. 2
878270105895. 3
878270105896. 4

Question Number : 64 Question Id : 87827026850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) Sife=Ir 3hdl, TSTaTG Sehel T8 Tl Sshell

(2) ST T3, TRIaTG T5hdl T8 TeTUS sl

(3) aifamar ahdl, TeYaTE ahd], TS Skl T8 A ashdl

(4) SIS 3hdl, TSYG1G Tohdl, TG d5hd], ST Shdl T8 Joh<0T S3hd]

Options:

878270105893. 1
878270105894. 2
878270105895. 3
878270105896. 4

Question Number : 65 Question Id : 87827026851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Natyadharmi is associated with the business of in the play.
(1) Folk
(2) Physical performance
(3) Beauty
(4) Sublime
Options :
878270105897. 1
878270105898. 2
878270105899. 3

878270105900. 4

Question Number : 65 Question Id : 87827026851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TeAyHt A | fhg TR § gefua €2
(1) @®

(2) ifas stfia
(3) HicH

(4) 3TN
Options:
878270105897. 1
878270105898. 2
878270105899. 3

878270105900. 4

Question Number : 66 Question Id : 87827026852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Bhamah, all beautifying properties of a literary composition (Kavya) are called :
(1) Vakroktis

(2) Alankaras

(3) Ritis

(4) Dhvanis
Options :

878270105901. 1
878270105902. 2
878270105903. 3
878270105904. 4

Question Number : 66 Question Id : 87827026852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) dshife

(2) EHRR

() dfd

@) e
Options:

878270105901. 1
878270105902. 2
878270105903. 3
878270105904. 4

Question Number : 67 Question Id : 87827026853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements about the Tholkappiyam is not correct ?
(1)  The main bulk of the Tholkappiyam is concerning the descriptive Linguistics of Tamil
(2) A part of Tholkappiyam is devoted to the discussion of styles, metres, diction and poetic
statements,
(3)  Much up the chapters involve meticulous catalogues of themes, locales, conventions and
symbols.
(4)  Tholakappiyam, original contribution is in making the synthesis between the themes of the
“interior” and that of the external world.
Options :
878270105905. 1
878270105906. 2
878270105907. 3

878270105908. 4

Question Number : 67 Question Id : 87827026853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et & o H B R TE T 7

1) dreruiE 1 s fee e arfaws & fovommers 19 ® il &

2) e T foem, Sfewl, B, s Ao SR Fees S & fonst iem §
3)  wHfirr s o o Fm oform, senferan, fodt o v & fomel W amafia R
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Options:

878270105905. 1
878270105906. 2
878270105907. 3

878270105908. 4

Question Number : 68 Question Id : 87827026854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who can be claimed as an exponent of what we call today Comparative Literature.
(1)  Amir Khusrau
) Mirza Asadullah Khan Ghalib
(3) Atfjaz Ahmed
) Faiz Ahmed Faiz
Options :
878270105909. 1
878270105910. 2
878270105911. 3

878270105912. 4

Question Number : 68 Question Id : 87827026854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A1 2 ol gereres et #ed € 1 § & Su 7a €
(1) @R G

2) =il srengees @M e
(3) TS $7ehg
4) s sEwe s

Options :

878270105909. 1
878270105910. 2
878270105911. 3
878270105912. 4

Question Number : 69 Question Id : 87827026855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct ?

(1) The Perso-Arabic element was never considered an exclusive property of the Muslims of
India.

(2) Rumi Sadi and Omar Khyyam defy all religious labels in their lyrics.

(3)  The Perso-Arabic element was used with power and feeling by many non-Muslims.

(4)  The Perso-Arabic element could not penetrate other languages other than Urdu.

=

Options :

878270105913. 1
878270105914. 2
878270105915. 3
878270105916. 4

Question Number : 69 Question Id : 87827026855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) TRl ot 7 weft off e e gyem w1 fRmfisr 7 7

() wH #R S @ o Fe § qeft wER F uififE o 1 Eed F ©

(3) Rl STt deal o wA R ftem ot g o v @ WrEe & @y fRa
(4) THRH! AT T e 9 ok far fRdt SR s i gued T A T
Options :

878270105913. 1

878270105914, 2

878270105915 3

878270105916. 4

Question Number : 70 Question Id : 87827026856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 1827, Goethe gave the idea of _________ literature.
(1) Folk
(2) World
(3) National
(4) European
Options :

878270105917. 1
878270105918. 2
878270105919. 3

878270105920. 4

Question Number : 70 Question Id : 87827026856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) @
@2) fawa
(3) LM
@4) T
Options:

878270105917. 1
878270105918. 2
878270105919. 3
878270105920. 4

Question Number : 71 Question Id : 87827026857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In contrast to influence, Intertexuality is a self conscious and __ managed activity.

(1) Consciously

(2) Subconsciously

(3)  Unconsciously
)

(4) Meta-consciously
Options :
878270105921. 1
878270105922. 2
878270105923. 3

878270105924. 4

Question Number : 71 Question Id : 87827026857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gue & faudla siaudai e W HaasR ug _ fEfa e #
(1) Heards

(2) STFHTARIE

(3) FTETARHE

(4) RS
Options:

878270105921. 1
878270105922. 2
878270105923. 3

878270105924. 4

Question Number : 72 Question Id : 87827026858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Brecht's The Caucasian Chalk Circle, is modelled on the classical Chinese play _
(1) Khilanji
(2) Huilanj
(3) Dilanji
(4) Melange

Options :

878270105925. 1
878270105926. 2
878270105927. 3
878270105928. 4

Question Number : 72 Question Id : 87827026858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105925. 1
878270105926. 2
878270105927. 3
878270105928. 4

Question Number : 73 Question Id : 87827026859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Tel Aviv school of Comparative Literature is known for its theory of
(1) Polysystem
(2) Influence
(3)  Affinity

) Comparison

(4
Options :

878270105929. 1
878270105930. 2
878270105931. 3

878270105932. 4

Question Number : 73 Question Id : 87827026859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) ‘g
2) ‘g’
(3) ‘e
@) ‘g
Options:

878270105929. 1
878270105930. 2
878270105931. 3
878270105932. 4

Question Number : 74 Question Id : 87827026860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Polygenesis’ results in the creation of __
(1) Dufferent

_ things by different people at different times.

(2) Identical

(3) Separate

(4)  Heterogenous
Options :

878270105933. 1
878270105934. 2
878270105935. 3
878270105936. 4

Question Number : 74 Question Id : 87827026860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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)
2)
() T
(4)  fermr
Options:

878270105933. 1
878270105934. 2
878270105935. 3
878270105936. 4

Question Number : 75 Question Id : 87827026861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

In the French School, the word “influence” has gradually given way to the word __

) Affluence

) Affectance
(3) Perception

) Reception
Options :
878270105937. 1
878270105938. 2
878270105939. 3

878270105940. 4

Question Number : 75 Question Id : 87827026861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) WA

(2) WT¥E

(3) FFYNOT

(4) TeW
Options:

878270105937. 1
878270105938. 2
878270105939. 3

878270105940. 4

Question Number : 76 Question Id : 87827026862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Niranjan Bhagat's modernist Gujrati poetry is influenced by __
(1) T.S. Eliot
(2) W.B. Yeats
(3) Baudelaire
(4) D. H. Lawrence
Options :
878270105941. 1
878270105942. 2
878270105943. 3

878270105944. 4

Question Number : 76 Question Id : 87827026862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 3rLug e

(2) T= . Fem

(3) FEUIE

4) ELTE, aRE
Options:

878270105941. 1
878270105942. 2
878270105943. 3

878270105944. 4

Question Number : 77 Question Id : 87827026863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Bhaktirasamritasindhuh is an important critical document on Bhakti poetry by :
(1) Jnaneshwar
(2) Tridaudi Swami Bhakti Hridaya Bon Maharaj
(3) Rupa Goswami
(4) Keshavadasa
Options :
878270105945. 1
878270105946. 2
878270105947. 3

878270105948. 4

Question Number : 77 Question Id : 87827026863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270105945. 1
878270105946. 2
878270105947. 3
878270105948. 4

Question Number : 78 Question Id : 87827026864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The term ‘Sufi’ is derived from the Arabic word ‘Suf’ meaning
(1) Sheep

(2) Goat

(3) Water

(4) Wool
Options :

878270105949. 1
878270105950. 2
878270105951. 3

878270105952. 4

Question Number : 78 Question Id : 87827026864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 g
(2) wRI
(3) 9l
@4) A
Options:

878270105949. 1
878270105950. 2
878270105951. 3
878270105952. 4

Question Number : 79 Question Id : 87827026865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" were the wandering devotees of Krishna in Tamilnadu.
(1) The Saints

(2) The Cowherds

(3) The Virsaivas

(4) The Alvars

Options :

878270105953. 1
878270105954. 2
878270105955. 3
878270105956. 4

Question Number : 79 Question Id : 87827026865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) Hd

(2) T w TS

(3) dds

(4) HAcHER
Options:

878270105953. 1
878270105954. 2
878270105955. 3
878270105956. 4

Question Number : 80 Question Id : 87827026866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The _ __ of the Virasaivas contributed to a new system of religious activities, the Satastlialn
Stddhanta.

(1)  The Baul Songs
(2) The Pravachans
(3) The Bhagwata
(4)  Vachanas
Options :
878270105957. 1
878270105958. 2
878270105959. 3

878270105960. 4

Question Number : 80 Question Id : 87827026866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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T S |

(1) @ T

(2) o

(3) Yrrad

(4) =
Options:
878270105957. 1
878270105958. 2
878270105959. 3
878270105960. 4

Question Number : 81 Question Id : 87827026867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fill in the blank with the correct option :
“The __ represents, so to speak, a sum of aesthetic devices at hand, available to the

writer and already to the reader” - Wellek and Austin,
(1) Comparative Literature
2) Myth
) Manuscript
)

(
(3
(4) Genre

Options :

878270105961. 1
878270105962. 2
878270105963. 3
878270105964. 4

Question Number : 81 Question Id : 87827026867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270105961. 1
878270105962. 2
878270105963. 3

878270105964. 4

Question Number : 82 Question Id : 87827026868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct option :

While defining literature and literariness, who said that some literature are born literary, some
achieve literariness and to some literariness is thrust upon.

(1) Rabindra Nath Tagore

(2) Raja Rao

(3) Terry Eagleton

(4) Simone de Beauvior
Options :
878270105965. 1
878270105966. 2
878270105967. 3

878270105968. 4

Question Number : 82 Question Id : 87827026868 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270105965. 1
878270105966. 2
878270105967. 3

878270105968. 4

Question Number : 83 Question Id : 87827026869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who claimed in 1846 that “in the language is our nationality” ?
(1) Josef Jungmann
(2) Timothy Brennan
(3) Frantisek Palacky
(4)  Wilhelm Grimm
Options:
878270105969. 1
878270105970. 2
878270105971. 3

878270105972. 4

Question Number : 83 Question Id : 87827026869 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1846 § fore =12 gaaea foan o oo & & 2ot vl 271

(1) SIEF S

(2) 2wl saE

(3) THIOAHE Ueireh!

(4) Siciéed UM
Options :

878270105969. 1
878270105970. 2
878270105971. 3
878270105972. 4

Question Number : 84 Question Id : 87827026870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was the founder and editor of the German Comparative Journal Zeitschrift fur Vergleichende
literature ?

(1) Max Koch

(2)  Charles Mills Gayley
(3) Jean Rhys

(4) Djuna Barnes
Options :
878270105973. 1
878270105974. 2
878270105975. 3

878270105976. 4

Question Number : 84 Question Id : 87827026870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :
878270105973. 1
878270105974. 2
878270105975. 3

878270105976. 4

Question Number : 85 Question Id : 87827026871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Choose the correct option
Who among the following dealt with the issues of the subaltern, especially the tribal women and
their discontents in her creative writing and activism ?
(1) Gayatri Chakraborty Spivak
(2) Maheshwata Debi
(3) Pandita Ramabai
(4)  Sarojini Naidu
Options :
878270105977. 1
878270105978. 2
878270105979. 3

878270105980. 4

Question Number : 85 Question Id : 87827026871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T foed 1
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Options :

878270105977. 1
878270105978. 2
878270105979. 3
878270105980. 4

Question Number : 86 Question Id : 87827026872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Choose the correct option :

is defined as “Collective unconscious” by Carl Jung.

(1) Epic

(2) Modernity

(3) Myth

(4) Parody
Options :

878270105981. 1
878270105982. 2
878270105983. 3
878270105984. 4

Question Number : 86 Question Id : 87827026872 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl faskey ﬂ?l :
= e 9 S sEead & &9 ° i wd ®
(1) e
(2)  nYfTRa
(3) fau=
@) et (fagmm)
Options :

878270105981. 1
878270105982. 2
878270105983. 3

878270105984. 4

Question Number : 87 Question Id : 87827026873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct option

Japanese film director Akira Kurosawa made the film Throne of Blood. Which play is the film
adapted from ?

(1) Hamlet

) Murder in the Cathedral
) Macbeth

) Volpone

Options :
878270105985. 1
878270105986. 2
878270105987. 3

878270105988. 4



Question Number : 87 Question Id : 87827026873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el fohed 4

ST e ST s 3 A o e’ e fhen s | 98 fpen g w et £7
(1) “ererR"
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(4) o’

Options :

878270105985. 1
878270105986. 2
878270105987. 3

878270105988. 4

Question Number : 88 Question Id : 87827026874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fill in the blank with the correct option :

Eugene Albert Nida, in his fomative years, worked on _ and
(1) History of Translation of the Bible, Linguistics

(2) Roman Epics, Translation theory

(3) Comparative Aesthetics, Structuralism

(4) Pragmatics, Equivalence

Options :

878270105989. 1

878270105990. 2

878270105991. 3

878270105992. 4



Question Number : 88 Question Id : 87827026874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T ooy TR e o #) 0
T Towe et Y s afww i d &R wwd fE
(1) =Rl % STere 1 3hied, W fasm

2) T Hewe, SR & fagia

(3) e T, HETeR

(4) RO, FHGE

Options :

878270105989. 1
878270105990. 2
878270105991. 3

878270105992. 4

Question Number : 89 Question Id : 87827026875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct option :

Who among the following is not a translation theorist ?
(1) Eugene A. Nida

(2) Peter Newmark

(3) Mona Baker

(4) F.R. Leavis

Options :

878270105993. 1

878270105994. 2

878270105995. 3

87827010599%6. 4



Question Number : 89 Question Id : 87827026875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el fomed 94
frefafaa 4 & feem o1eR & fasia = M & fF g2
(1) FHE T el

(2) e FETE

(3) HIF WL

(4) TR ofag
Options :

878270105993. 1
878270105994. 2
878270105995. 3

87827010599%6. 4

Question Number : 90 Question Id : 87827026876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Identify the idea presented in the given lives .

“My body was in India, but my mind was in Europe. The light of Europe had penetrated that
mind, and by that light [ could see clearly that there was no life in this country”. Pramatha
Chaudhuri.

(1)  Euro-Centrism

(2)  Orientalist

(3)  Fascination for the West
(4) Cultural Self-respect

Options:

878270105997. 1
878270105998. 2
878270105999. 3
878270106000. 4



Question Number : 90 Question Id : 87827026876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frpetferfia el 5 g o 1 T )
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(1)

I CERL

(3) T % ¥ s
(4) Hipfen @-FHH
Options :

878270105997. 1
878270105998. 2
878270105999. 3

878270106000. 4

Question Number : 91 Question Id : 87827026877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statement are true about Interdisciplinarity ?

(A) Joe Moran published a book named Inferdisciplinarity.

(B) Linguistics is interdisciplinary in nature,

(C) Interdisciplinarity can be considered as an ideal entry point in dealing with critical issues of
today’s time,

(D) New Historicism as a theoretical paradigm is interdisciplinary.

(E) William Wordsworth’s ‘Preface” to “Lyrical Ballads™ is an interdisciplinary work.

Choose the correct answer from the options given below :

(1) (A), (C) and (D) Only

) (A), (B) and (E) Only

(3) (B), (C) and (D) Only

4) (C), (D) and (E) Only

Options:
878270106001. 1
878270106002. 2

878270106003. 3
878270106004. 4

Question Number : 91 Question Id : 87827026877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

st & aR ¥ frefafea 4 9§ %9 8 F0 w ©?

(A) S HRA 7 fefefaftenid’ v e e

(B) s o o v sifel &
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(D) 7 Foergare T Hagife Thom & 0 H sfafdva €|
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Options :

878270106001. 1
878270106002. 2
878270106003. 3
878270106004. 4

Question Number : 92 Question Id : 87827026878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Longinus was a Roman aesthetician who wrote treatise.
(A) Omn the Sublime
(B)  Poetics
(C) Ars Poetica
(D) In Greek
(E) In Latin
Choose the correct answer from the options given below :
(I) (A) and (D) Only

(2) (B) and (D) Only
(3) (A) and (E) Only
4) (C€) and (E) Only

Options :

878270106005. 1
878270106006. 2
878270106007. 3

878270106008. 4

Question Number : 92 Question Id : 87827026878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



drered, U9 Hiedmst 4 T TR fomn
{!:"L} ”ST'FIEJEE{ETBT{”

(B) ‘‘difesg"’
(€) ‘‘ord urEfewr”
(D) Wiw 9w H
(E) dfed w1 o

9 fou 7o fawedi & 9 W& ST &1 934 Fif9C
(1) el (A) @R (D)

(2) e (B) S (D)
(3) T (A) SR (E)
(4) e (C) ¥R (E)
Options:

878270106005. 1
878270106006. 2
878270106007. 3

878270106008. 4

Question Number : 93 Question Id : 87827026879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following are noted Translators and Translation Scholars from India ?
P. Lal

(A)

(B)  Sujit Mukherjee

(C) Tejaswini Niranjana

(D) Bankim Chandra Chatterjee

(E) Henry Derozio

Choose the correct answer from the options given below

(1) (A), (B) and (C) Only
(2) (B, (C) and (E) Only
(3) (B, (C) and (D) Only
(4) (A), (C) and (E) Only



8782701060009. 1
878270106010. 2
878270106011. 3

878270106012. 4

Question Number : 93 Question Id : 87827026879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frefafed § & 99 9 wRa & 9@ A 3 seR fagm &7
(A) . &=
(B) gsia qrsit
(C) ST Fs
(D) dfeH =g =Sl
(B) el <t
== feu U fawedi § 9 Wi 39T 1 T Hife .
(1) e (A), (B) 3R (C)
2) %9 (B), (C) ¥R (E)
3) dd (B), (C) 3 (D)
(4) e (A), (C) &R (B)

A p—

Options :

878270106009. 1
878270106010. 2
878270106011. 3

878270106012. 4

Question Number : 94 Question Id : 87827026880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following works are re-writing of some kind ?
(A) Samuel Johnson's “London”

(B) Dinabandhu Mitra’s “Nildarpan”

(C) Michael Madhusudan Dutt's “Meghnadbadh Kavya”
(D) T.S Eliot's “The Love Song of |. Alfred Prufrock”

(E) Wordsworth's “Tintern Abbey”

Choose the correct answer from the options given below :
(1) (B) and (C) Only

(2) (A) and (C) Only

(3) (D) and (E) Only

(4) (C) and (E) Only

Options:

878270106013. 1

878270106014. 2

878270106015. 3

878270106016. 4

Question Number : 94 Question Id : 87827026880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa § @ #F o Ffaal s Twr #1 ered €2
(A) Y SAEA H g’

(B) ey T 1 ‘et <dur’

(C) WrEHel HYYEA &4 1 HEAG 94 el

(D) J.7H. e +1 ' o9 T 3ATF A, Achs ThiE
(B) a<mad & 'fed u=

At feu 7Tu fashedi § 9 W@ I h1 =5 i

(1) e (B) 3 (C)

(2) e (A) 3R (C)
(3) Had (D) &K (E)
(4) e (C) 3R (E)

Options :



878270106013. 1
878270106014. 2
878270106015. 3

878270106016. 4

Question Number : 95 Question Id : 87827026881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following recommendations were made by American Comparative Literature
Association in its The Levin Report 1965 ?
(A) The teacher should be competent enough to teach Spanish or Russian or whatever is taught
in the particular department.
(B) Acquaintance with the major writings of western literature from classical antiquity to the
present is not required.
(C) Courses exclusively in a single national literature should be designated as courses in
comparative literature,
(D) As service courses, undergraduate courses in comparative literature are a legitimate and
valuable part of liberal education.

(E) The institution should have strong departments in both classical and modern languages and
literatures,

Choose the correct answer from the options given below :
(I) (A), (D)and (C) Only

(2) (A) (B) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270106017. 1
878270106018. 2
878270106019. 3

878270106020. 4

Question Number : 95 Question Id : 87827026881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

' sraftan ied foeter wafawe’ 3 s afem U, 1965 § frefafan & @ 9 & fawf 212

(A orerer =t St o0 wht s g fepedt st o ) e e € 9% Vo o o it ®9 W S BR
gl

(B) W & el Faem wfierd wiee # W@ He # A e e T g

(C) a7 THhel T Wieed & TEhd| 1 qHeies Wiecd & Temrn & 0 § fifew foon s
en|

(D) a1 TSTHH! T, T Wieed A MeTshe Sar e 1 T 99 3R weeaq fewn €1

(F) eeell § Femfinel aiR ses soel i wfecd o worey fawm & =t

4 feu T fomedl A 8 WE I F T FI0 ¢
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Options :

878270106017. 1
878270106018. 2
878270106019. 3

878270106020. 4

Question Number : 96 Question Id : 87827026882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The two major components of Indian Literature are :
(A) Chinese Component

(B) Hindi Component

(C) Sanskrit Component

(D) Urdu

(E) Perso-Arabic Component

Choose the correct answer from the options given below :
(1) (A) and (E) Only

(2) (B) and (C) Only

(3) (D) and (B) Only

4) (C) and (E) Only

Options :

878270106021. 1
878270106022. 2
878270106023. 3

878270106024. 4

Question Number : 96 Question Id : 87827026882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(A) =l HEH

(B) fe<i 5z

(C) Hepd e
(D) 37 =H

(E) REl 3Rl Hh
(1) e (A) 3T (E)
(2) 9 (B) 3R ()
(3) <ad (D) #R (B)
(4) %9 (C) 3 (E)

Options :



878270106021. 1
878270106022. 2
878270106023. 3

878270106024. 4

Question Number : 97 Question Id : 87827026883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following give critique of the aesthetic pleasure/experience (Rasasvad) ?
(A) Bhatta Lollatta

(B) Bhatta Nayaka

(C) Dhanika

(D) Rajashekhar

(E) Rudrata

Choose the correct answer from the options given below
(1) (A) and (E) Only

(2) (A)and (D) Only

(3) (C) and (B) Only

(4) (A) and (B) Only

]

Options :

878270106025. 1
878270106026. 2
878270106027. 3

878270106028. 4

Question Number : 97 Question Id : 87827026883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frafafed 5 9 fega Tamae F1 =1 1 2
(A) 422 dleate

(B) & A

(C) wf=

(D) TR

(E) &<

= fou 7o fawedi § | WE SO 1 999 i
(1) e (A) $IR (B)

(2) kel (A) SR (D)
(3) e (C) ¥R (B)
(4) e (A) S (B)
Options:

878270106025. 1
878270106026. 2
878270106027. 3
878270106028. 4

Question Number : 98 Question Id : 87827026884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are related to the titles of Mahabhiarata ?
(A) Mahajaya

(B) Jaya

(C) Jambudvipa

(D) Bharata

(E) Indraprastha

Choose the correct answer from the options given below :
(1) (A) and (E) Only

(2) (B) and (D) Only

(3) (C€) and (E) Only

4) (A) and (D) Only

Options :



878270106029. 1
878270106030. 2
878270106031. 3

878270106032. 4

Question Number : 98 Question Id : 87827026884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freifetfad # & %A ¥ HervRd & T § Haftd § 2

(A) WHesH

(B) 4

(C) g

(D) YRd

(E) =94

== feu U fawedi § 9 Wi 39T 1 T Hife .
(1) e (A) 3R (B)

(2) 9 (B) R (D)

(3) % (C) 3R (E)

(4) Had (A) 3R (D)

Options :

878270106029. 1
878270106030. 2
878270106031. 3

878270106032. 4

Question Number : 99 Question Id : 87827026885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The British impact on India gave rise to a body of literature which comprises of :
(A) Urban Literature

(B) Classical Literature

(C) Raj Documents

(D) Anglo-Indian Literature

(E) Indo-Anglican Literature

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

4) (D) and (E) Only

Options:

878270106033. 1

878270106034. 2

878270106035. 3

878270106036. 4

Question Number : 99 Question Id : 87827026885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fafes wye 7 yra § u fasiy anfeca =1 seEn foar foad wnfae ®
(A) ¥l wifed

(B) aFenidsha Hifee

(C) TS S

(D) =77e qRdrT Jifecd

(E) YdrE AFe difecd

(1) = (A) #R (B)

(2) e (B) 3R (C)
(3) e (C) #R (D)
(4) Had (D) 3K (E)

Options :



878270106033. 1
878270106034. 2
878270106035. 3

878270106036. 4

Question Number : 100 Question Id : 87827026886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The age of “Charya songs’ is considered to be :
(A) 800 AD-900AD

(B) 900 AD-1000 AD

(C) 1000 AD-1100 AD

(D) 1100 AD-1200 AD

() 1200 AD-1300 AD

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Options:
878270106037. 1
878270106038. 2

878270106039. 3
878270106040. 4

Question Number : 100 Question Id : 87827026886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T D e e e | 1
(A) 800% ¥ -900%.
(B) 900%. H -1000 3.
(€) 1000% ¥ -1100%.
) 1100 % & - 1200 3.
(E) 1200% ¥ -1300%.
(1) 9d (A) SR (B)

(2) e (B) S (C)
(3) e (O) ¥R (D)
(4) e (D) SR (E)
Options:

878270106037. 1
878270106038. 2
878270106039. 3

878270106040. 4

Question Number : 101 Question Id : 87827026887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Sahajiya Vaishnavism is :
(A) a later transfiguration of the Buddhist Sahajiya
(B) an adaptation of Sahaj yoga
(C) a modification of Zen meditation
(D) a changed form of Vaishnavism
(E) an ideological abstraction
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (A) and (D) Only
(4) (C) and (E) Only

Options :



878270106041. 1
878270106042. 2
878270106043. 3

878270106044. 4

Question Number : 101 Question Id : 87827026887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(A) drg HEsg o 91e H g T

(B) HST AT T STHer

(C) = EAF I FIRT

(D) dwrgare @1 dftafda w9

(E) foamumes fomsrdm

== feu U fawedi § 9 Wi 39T 1 T Hife .
(1) hael (A) 3R (B)

2) %ad (B) 3R (Q)

3)  had (A) #R (D)

(4) (O 4R (B)

A p—

Options :

878270106041. 1
878270106042. 2
878270106043. 3

878270106044. 4

Question Number : 102 Question Id : 87827026888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dharamvir Bharati's verse play, "Andha Yug" (The Age of Blindness) can be characterized as :
(A) Originally written in Hindi about Bhima Bho, the blind poet

(B) Originally written in Hindi in 1954

(C) Based on the retelling of “The Mahabharata’

(D) The story of the origin of the dark age in Indian literature

(E

) The re-telling of the story of Milton’s “Paradise Lost” in Hindi translation
Choose the correct answer from the options given below :

(1) (C) and (D) Only
(2) (B) and (C) Only
(3) (A) and (B) Only
4) (B) and (E) Only

Options :

878270106045. 1
878270106046. 2
878270106047. 3

878270106048. 4

Question Number : 102 Question Id : 87827026888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

YR T o B8 A 3191 0 w1 o FEgaR aas S o ©
(A) TA TIH TH AR Hig, fimr 9 F 9) 7 <1 # foran
(B) T11954 ¥ ¥ &9 ¥ Tt # fafaq

(C) ‘HEHA' ® YA YA W S|

(D) R Hifeca H ¥R I % 3T &l Ferl

(B) Theed & 'Uuess e’ i wert il fe<dl sqane o 94: gAm|
T feu o famedi # 9 Wl 39 & 939 Fifen .

(1) a9 (C) iR (D)

(2) e (B) 3R (Q)
(3) e (A) X (B)
@) ¥ (B) 3K (B)

Options :



878270106045. 1
878270106046. 2
878270106047. 3

878270106048. 4

Question Number : 103 Question Id : 87827026889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

In the text "Autobiographical Selves : Theory and Practice’, Susan Standford Friedman talks
about :

(A) The identity and the adulthood of an individual

(B) The marginalized and the subaltern

(C) The individualistic concept of the autobiographical self

(D)  The collective sense of the self

(E) The cultural movements and the engagement of the biographers with those theories
Choose the correct answer from the options given below :

(1) (C) and (D) Only

(2) (A)and (B) On]).r
(4) (A)and (D) Only

Options:

878270106049. 1
878270106050. 2
878270106051. 3

878270106052. 4

Question Number : 103 Question Id : 87827026889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Yoo A Ge e A R R R e A e A A €
A) forslt o 1 Tea AR SR

Options:

878270106049. 1
878270106050. 2
878270106051. 3

878270106052. 4

Question Number : 104 Question Id : 87827026890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

According to the comparatist Bernheimer, the space of comparison involves :
(A) The liberal American schools that study parallelism and interdisciplinary dimensions

(B) Hermeneutic articulations of meaning and materialist analysis of its modes of production
and circulation

(C) The reception theory vis-a-vis comparative literature

(D) The pre and post-contact cultural productions of the colonized people

(E) Post colonialism, gender studies, etc. that created the "Theory wave’ in 1970,
Choose the correct answer from the options given below :

(1) (C)and (D) Only

(2) (A) and (E) Only

(3) (B) and (E) Only

(4)  (B) and (D) Only



Options :

878270106053. 1
878270106054. 2
878270106055. 3
878270106056. 4

Question Number : 104 Question Id : 87827026890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

eI TR o STHR, Jor & & 1 e €

(A) FERETE AT Forem il FHHIGETE SR o -fouash Sl 1 S €|
(B) 3 1 WAfaI kS SR 3l e ftaner F1 ugfel &1 sifasparar foverm
(C) FHwm @l & ga § g wiec

(D) SufTafi ol 1 Hoeh- e SR TeE W S

(E) I JMavER, i dorm afe i 1970 ¥ ‘& 99 ghv &1

4 fet
(1
2

ﬁm T H Wl I T T HIA
(C) ¥R (D) Only

(A) ¥ (E) On

(B) ¥ (E) Onhr

(B) 3 (D) Only

A

§§§”§

)
)
()
4)
Options:

878270106053. 1
878270106054. 2
878270106055. 3

878270106056. 4

Question Number : 105 Question Id : 87827026891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"Amar Chitra Katha" series is :
(A) a book of paintings and illustrations
(B) a retelling
(C) a trajectory of paintings by children
(D) itis a part of children’s literature
(E) a revisit to the stories from the Vedas
Choose the correct answer from the options given below :
(I) (B) and (C) Only
(2) (B) and (D) Only
(3) (A) and (E) Only
(4) (A) and (B) Only
Options :
878270106057. 1
878270106058. 2
878270106059. 3

878270106060. 4

Question Number : 105 Question Id : 87827026891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘o T e’ gEeT ®

(A) fosii oIR STl 1 TF T

(B) TF THaTeH

(C) ==di g fo=i &t T wfs =

) e SITel Wifeed o TH 911§

(E) =gl =l st & I wefa

== fou 7u fawegi § 9 W& ST F1 FIA St

(1) e (B) 3 (O)
(2) e (B) 3R (D)
(3) e (A) 3R (E)
(4) e (A) S (B)

Options :



878270106057. 1
878270106058. 2
878270106059. 3

878270106060. 4

Question Number : 106 Question Id : 87827026892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Grammarians consider that there are two word - entities in functional words :
(A) Production of speech sounds in sequence
(B) The sphot, the cause of the production of words
(C) Examination of the word in the mind
(D) Speech sound used in connection with meanings
(E) Instrumentality of the speech sounds
Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A) and (D) Only

(3) (C) and (E) Only

(4) (E) and (A) Only

Options :

878270106061. 1
878270106062. 2
878270106063. 3

878270106064. 4

Question Number : 106 Question Id : 87827026892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FrRufag A ® for wrfes weel § & forss-ward At @ -
(A) arF = % FwHES S

(B) TR, YEE] Wi Icafd 1 HA

(C) wfeasr H w=sf &t Sir=

(D) @k @i, Hef & HaY d g

(E) dTk @=fTai 1 FOA

9 fou 7o fawedi & 9 W& ST &1 934 Fif9C

(1) o (B) 3R (D)

(2) ad (A) AR (D)
(3) Fe (O) iR (E)
(4) o (E) 3 (A)
Options:

878270106061. 1
878270106062. 2
878270106063. 3

878270106064. 4

Question Number : 107 Question Id : 87827026893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Postmodernism celebrates the culture of :
(A) Pastiche

(B)  Fixities

(C) Determinacies

(D) Adaptations

(E) Grand narrative

Choose the correct answer from the options given below :
(1) (B) and (C) Only

(2) (A) and (E) Only

(3) (C€) and (E) Only

4) (A) and (D) Only

Options :



878270106065. 1
878270106066. 2
878270106067. 3

878270106068. 4

Question Number : 107 Question Id : 87827026893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T snfeRararg (A Atefisr) frefafea = gl w5 9T F=a e
(A) Ui

(B) Twfwae

(C) Teetfuddrs

(D) TSI+

(E) TFe e

= feu v faedi § 9 W& 9T 1 999 Fifa0:
(1) e (B) ¥R (Q)

2)  %Had (A) 3 (E)

3) had (C) #R (E)

(4) < (A) 3R (D)

A p—

Options :

878270106065. 1
878270106066. 2
878270106067. 3

878270106068. 4

Question Number : 108 Question Id : 87827026894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the statements are true ?

(A) There is ordinarily no full equiralence between code units.

(B) Translation is a purely linguistic activity.

(C) Sign language interpreting is also a kind of translation.

(D) Translation is replacement of a text from one culture to another.
(E) George Chapman'’s translation of Homer is the first translation work.
Choose the correct answer from the options given below :

(1) (A), (B) and (E) Only

(2) (C), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (B), (C) and (E) Only

Options:

878270106069. 1

878270106070. 2

878270106071. 3

878270106072. 4

Question Number : 108 Question Id : 87827026894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa § § S9-S5 4 oA TE 8 2

(A) HIS-SHEA & drd FHROGA U HHGEAd] TR el ¢ |
(B) AR IUf: Tw W S fRamhend €1

(C) Eoha wToT it AT i U YR T HAIIE T

(D) AR fHd o8 %1 T Hepfa | gadt | wfaeamH g
(E) TSl =98 o1 ' B 1 STATG, 37918 i Teell Fid & |
= fau o fashedl | 9 W& I9Y 1 99 Fif9C

(1) a4 (A), (B) 3R (E)

(2) e (C), (D) iR (E)

(3) I (A), (O) R (D)

(4) <9 (B), (C) $IR (E)

Options :



8782701060609. 1
878270106070. 2
878270106071. 3

878270106072. 4

Question Number : 109 Question Id : 87827026895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Any epic - western or oriental - is a memorable relation of events, grouped round a central theme
of :
(A) Coexistence with the sublime
(B) Racial interest in particular
(C) Human interest in general
(D) Everyday occurrence generated into nectarean symbol
(E) Journey into the inner countries of mind, heart and soul
Choose the correct answer from the options given below :
(1) (C)and (E) Only

(2) (A)and (D) Only
(3) (B) and (C) Only
(4) (E) and (D) Only
Options:

878270106073. 1
878270106074. 2
878270106075. 3

878270106076. 4

Question Number : 109 Question Id : 87827026895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106073. 1
878270106074. 2
878270106075. 3

878270106076. 4

Question Number : 110 Question Id : 87827026896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The French school of Comparative Literature emphasises :
(A) Variety

(B) Diversity

(C) Vast Panorama

(D) Detailed and close angles

(E) Limited, restrictive and rigorous methodology
Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Options :



878270106077. 1
878270106078. 2
878270106079. 3

878270106080. 4

Question Number : 110 Question Id : 87827026896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
gt |ifecd &1 e Tha’ fh o 5@ <ar €72
(A) fafg=a
(B) fafawm
(C) =A% dfyaswmdl
(D) famga ik geu gfemm
(B) Hift, ufdafus sfit #a8R wfafy
== feu U fawedi § 9 Wi 39T 1 T Hife .
(1) hael (A) 3R (B)
2) %ad (B) 3R (Q)
3)  had (C) 3T (D)
(4) e (D) &R ()

A p—

Options :

878270106077. 1
878270106078. 2
878270106079. 3

878270106080. 4

Question Number : 111 Question Id : 87827026897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Awareness of influence can lead to intertextuality and its freedom, but intertextuality cannot lead
to influence. Which of the following statements are true as per the given statement ?

(A) Intertextuality emanates from details only.

(B) Intertextuality is dependent on the influence.

(C) Influence causes intertextuality.

(D) Intertextuality can not rise up into the vision required to cause influence.

(E) Influence is not better than intertextuality.
Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (A) and (C) Only
(3) (A) and (D) Only
(4) (A) and (E) Only
Options:

878270106081. 1
878270106082. 2
878270106083. 3

878270106084. 4

Question Number : 111 Question Id : 87827026897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) ST ot oy B # S et £

(B) TG § ST I Bt £

(C) ST T8 T 2l 2

(D) & T FTS 301 L o Tof oFufid SR o <9 0 T8 5 9o ¢

(F) T4 3. T3 A 9% g

e feu mu fomredt # 9 W I F T Fif

(L A) 8T (B)
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3
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o
e o

(D)
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 ERE]

)
)
)
) A

(4)
(4)
(4)
(A)
Options :

878270106081. 1
878270106082. 2

878270106083. 3
878270106084. 4

Question Number : 112 Question Id : 87827026898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the two statements are true about the classical literature of the ancient time ?
(A) It was peopled by common men.

(B) It threw light upon men who loved and suffered in obscurity.

(
(D) It was only peopled by saints, kings and heroes.

(E) It threw no light upon men who loved and suffered in obscurity.
Choose the correct answer from the options given below

28

[t was a religions literature.

(1) (A) and (D) Only

(2) (D) and (E) Only

(3) (C)and (E) Only
)

(4) (B)and (E) Only



Options :

878270106085. 1
878270106086. 2
878270106087. 3
878270106088. 4

Question Number : 112 Question Id : 87827026898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T i % A e & o) F Frefafen § 9 @ G 9 R e e

(A) T 3T SeH! o T I9e 9|

(B) T 3 aimi i ke ot ¢ i S e e sl el # € e S e e
(C) 7 ufds wfecd o

(D) 7% ke Hel, Toafl AR ToH! T 390 41|

(B) e 37 oufeell ot foerart) e o1 78 fori S e of el & sy it el e
T2 fou o fowedt # & W I 71 A

(1) % (A) 4R (D)
(2) d (D) S0 (E)
(3) e (O) 4R (E)
(4) de (B) 3l (E)
Options:

878270106085. 1
878270106086. 2
878270106087. 3

878270106088. 4

Question Number : 113 Question Id : 87827026899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are NOT true,
(A) ICLA was founded in 1955.
(

B) ICLA is not inclusive in its organisation.

(C) ICLA's annual journal is Recherce Litteraire.

(D) ICLA encourages cultural exchanges,

(E) The Anna Balakian Prize of US § 1000 was announced officially for the first time in 2000,
Choose the correct answer from the options given below :

(1) (, B) and (E On]}r
(3) o) ( ana (E) Only
(4) (B), (C) and (E) Only
Options :

878270106089. 1
878270106090. 2
878270106091. 3
878270106092. 4

Question Number : 113 Question Id : 87827026899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) o ¥.16.T W M T F Tiedfed #d ¢
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= fou o fowedi § 9 W@ SR F 9 Fifow

Options :



878270106089. 1
878270106090. 2
878270106091. 3

878270106092. 4

Question Number : 114 Question Id : 87827026900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the following.

(A) The term “genre’ is originally Latin.

(B) The taxonomy of genre 1s neutral.

(C) Any theme can appeal in any genre.

(D) Genres are fuzzy categories.

(E) Genre labels for general public and academicians are always same.
Choose the correct answer from the options given below :

(1) (B), (C) and (E) Only

(2) (A), (C) and (D) Only
(3) (A), (B) and (E) Only
(4) (C), (D) and (E) Only

Options:

878270106093. 1
878270106094. 2
878270106095. 3

878270106096. 4

Question Number : 114 Question Id : 87827026900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



= o 4 9& o T R

(A) ‘S 9= gord: oifeT v

(B) S (faun) =1 afieRaw qeva ¥

() g o fawa fordt oft faen & 9 < gk 2
(D) faumd sweqse = )

(B) Taensd =1 9m A= S SR SR i % fou i wum R
== fou U fosmedi § & W& I F1 9o HI9C
(1) 9 (B), (C) 3 (B)

(2) Fad (A), (C) R (D)

(3) & (A), (B) #R (E)

(4) %94 (C), (D) ¥R (E)

Options:

878270106093. 1
878270106094. 2
878270106095. 3
878270106096. 4

Question Number : 115 Question Id : 87827026901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Everyday life is profoundly related to all activities, and encompasses them with all their difference
and their conflicts, it 15 their meeting place, their bond, their common ground.

(A) Interdisciplinarity

(B) Relativism

(C) New Humanities

(D) Romanticism

(E) Typology of Knowledge systems

Choose the correct answer from the options given below :

(1) (A)and (C) Only

2) (B)and (D) Only
(3) (A)and (E) Only
(4) (C)and (D) Only



Options :

878270106097. 1
878270106098. 2
878270106099. 3
878270106100. 4

Question Number : 115 Question Id : 87827026901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

3o St T e B o 3, o o ek Fafvered o e 8, 7 e fe
, ST ST T 3§ Wfek S ¢

TFA A E - R A )

Options:

878270106097. 1
878270106098. 2
878270106099. 3
878270106100. 4

Question Number : 116 Question Id : 87827026902 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1.

List - I List - II
(A) G.N Devy (I)  The Intimate Enenty
(B) Ashish Nandy (I) The Location of Culture
(C) Homi Bhaba (II) After Amnesin
(D) Edward Said (IV) Culture and Imperialism
Choose the correct answer from the options given below :
(1) (A1), (B)-D), {C (1), {D} )

) ( \)-(D), (B)-(II), (C)-(IV), (D)-(1lI)
() (A-AV), (B)-(1), (O)-(11), (D)-(II)
) )

(4)  (A)-a), (B)-(1), (-1, D)-aV
Options:

878270106101. 1

878270106102. 2

878270106103. 3

878270106104. 4

Question Number : 116 Question Id : 87827026902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geil-1 3 geit-11 1 fiem #ifsg
Tell-1 -1
(A) it T S (O ‘g e e
(B) ey e (I) < SRy ST Foat”
(C) B HE (1) e T
(D) T=aE ¥R (IV) “'weR g gedifafes "

== fou mu fomedi § | WE IR F1 T w6
1 (A) {H (B)-(D), (C)-(LIL), (D)-(IV)
2)  (A)XD, (B)-(I), (CO)-(1V), (D)-(I)
3) (A) V), (B)-(I), (©)-(11), (D)-(IIT)
(4)  (A)(II), (B)-(I), (C)-(11), (D)-(IV)



Options :

878270106101. 1
878270106102. 2
878270106103. 3

878270106104. 4

Question Number : 117 Question Id : 87827026903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(A) Chaucer (I)  Jean Rhys
(B) James Joyce (II) Baudelaire
(C) Clarice Lispector (III) Boccaccio
(D) Edgar Allan Poe (IV) Italo Svevo

Choose the correct answer from the options given below :

(1) (A)-D), B)-(0), (©)-11), (D)-(IV)

(2) ( A)-(IIT), (B)-(1V), (C)-(D), (D)-(1T)
(3) (A, (B)-(D), (C)-(1I), (D)-(IV)
@) (A1), (B)-IV), (O)-(I1D), (D)-(I1)
Options :

878270106105. 1
878270106106. 2
878270106107. 3

878270106108. 4

Question Number : 117 Question Id : 87827026903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teil-1 3 G- =1 e wifs

Tell-1 -1
(A) =& (I) =i wEE
(B) =T S99 (I) 9EESAN
(C) =t foasies (1) SrRIfaar
(D) TSR e 9 (IV) S e

e fau T fosredi § | W& SO F T34 i

1)  (A)-D, (B)-(II), (C)-(II), (D)-(IV)
{2) (A)-(II), (B)-(IV), (©)-(1), (D)-(IL

)
(3) {ﬂ) ~(I), (B)-(1), (©)-(11), (D)-(IV)
@) (A1), (B)-AV), (O)-(1), (D)-(1D)

Options:

878270106105. 1
878270106106. 2
878270106107. 3

878270106108. 4

Question Number : 118 Question Id : 87827026904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - 1 List - I1
(A) Welteiteratur (I) Baudrillard
(B) Simulacra (II) Homi Bhaba
(C) Colonial Ambivalence (LI) Edward Hall
(D) Third space (IV) Goethe

Choose the correct answer from the options given below :
(1) (A1), (B)-(1), {C)-{Ill)r {D)-{IV)
(2) ( )-(1V), (B)-(I), (©)-(1), (D)D)
{3} (A)-(IV), (B) (), (©)- (I (D)D)
@) (A)-IV), B)-0), (O)-(), (D)-(L)

Options :

878270106109. 1



878270106110. 2
878270106111. 3

878270106112. 4

Question Number : 118 Question Id : 87827026904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geit-1 9 Wei-11 =1 fier it

eit-1 Heit-11
(A) Seefaet (I) dfEe
(B) fagers® (I) &t e
(C) wreifiae ufaacid (Ill) TESE =
(D) o< ¥9 (IV) T2

ﬂ%ﬁqmﬁw*ﬁﬁuﬁwaﬂwafﬁq:
(1) (A1, (B)-(D), (O)-(11), (D)-(IV)

(2)  (A)-(IV), (B) (IH (©)-(1), (D)-(I)

(3)  (A)NIV), (B)-(UI), (C)-(I), (D)-(1I)

(4) { A)-(IV), (B)-(I), (C)-(IL), (D)-(IIL)

Options :

878270106109. 1
878270106110. 2
878270106111. 3
878270106112. 4

Question Number : 119 Question Id : 87827026905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(A) Saussure (I)  The Postmodern Condition
(B) Lyotard (I) Diachrony/Synchrony
(C) Linda Hutcheon (III) Polyphony
(D) Bakhtin (IV) Adaptation

Choose the correct answer from the options given below :
(1) (A, B)-(I), (©)-(1), (D)-(V)
(2) ( V)-(1V), (B)-(1), (©)-(1), (D)-(1D)
{3} (A)-(D), (B)-(II), (C)-(IV), (D)-(II)
@) (A1), B)-(D), (O)-1V), (D)-()
Options :
878270106113. 1
878270106114. 2
878270106115. 3

878270106116. 4

Question Number : 119 Question Id : 87827026905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teil-1 9 GEit-11 =1 e wifso;

geil-1 Geit-11
(A) T (I) T U 9Ed w<IeH
(B) fomerE (I)  STEshiA/FHsRTA
() o=t g=am (I) SrerET
(D) afer (IV) TEresH

e fau T fosredi § | WE SO F F99 S
(1) (A)-(II), (B)-(II), (C)-(1), (D)-(IV)
{2) (A)-(IV), (B)-(1L), (C)-(I), (D)-(IT)
(3) (A) -(), (B)-(I1L), (C)-(1V), (D)-(1I)
4) (A, (B)-(1), (C)-1V), (D)-(IL)

Options :

878270106113. 1



878270106114. 2
878270106115. 3
878270106116. 4

Question Number : 120 Question Id : 87827026906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Flora Ross Amos (I) A Linguistic Theory of Translation
(B)  Sujit Mukherjee (II)  About Translation
(C) J.C. Catford (IIT)  Early Theottes of Translation

(D) Peter Newmark (IV) Translation as Discovery
Choose the correct answer from the options given below :

1) (A)-D), (B ) (1), (©-IV), (D)-(IL)

(2) (f\) -(I), (B)-(IV), (C)-(ID), (D)-(D)
(3)  (A)-(I), (B)-(1I), } D), (D)-(IV)
(@) (AXIV), (B)-(D), (©)-(Im), (D)-(1)
Options :

878270106117. 1
878270106118. 2
878270106119. 3
878270106120. 4

Question Number : 120 Question Id : 87827026906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



geit-1 § Eii-11 1 e Fifee

qeil-I Gei-11
(A) T T A () T foiffafes fER e ZeeeH
(B) i Hasit (I) TR ZEeRM
(C) <L FewrE (I 37elt P i ZigeryH
(D) X =T (IV) <idere s femmatt
e fou o fowedt § @ Wét SO & =TI Fife

1) (A)-D, B)-), (C)-(WL (D)-(ITI)
(2) (A)-(I), (B)-(IV), (©)-(1D), (D)-(1)
) {A} -(IIL), (B)-(10), (©)-(1), (D)-(IV)
@) (A)-AV), (B)-(1), (©)-(), (D)-(1D)
Options:
878270106117. 1
878270106118. 2
878270106119. 3

878270106120. 4

Question Number : 121 Question Id : 87827026907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - 11
(A) Epistolary (I)  Rosalynde
(B) Gothic (I) Pamela
(C) Prose Romance (III) Look Back in Anger
(D) Kitchen sink (IV) The Castle of Otranto

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(1), (O-(1), (D)-()

(2) ( V)-(1), (B)-(IV), (C) (I (D)-(I)

{3) (A)-(1ID), (B)-(II), (C)-(1), (D)-(IV)

(4) (A, (B)-(ID), {c {m (D)-(111)

Options:

878270106121. 1



878270106122. 2
878270106123. 3

878270106124. 4

Question Number : 121 Question Id : 87827026907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geit-1 9 Wei-11 =1 fier it
eit-1 Heit-11
(A) TfEerl 1 TEfes”
(B) Tiferes (I ‘amden’
(C) e | (In “'gF 9% 31 TR
(D) frfa -fasw (IV) “'% F/He AE s’

e feu 7o fasedi o 9 WE SHT & =IA Fifo
(1)  (A)(IV), (B)-(11), (C)-(II), (D)-(I)

2) (A1), (B)-(IV), (C)-(I), (D)-(ILI)

(3)  (A)-(ID), (B)-(IL), (C)-(I), (D)-(IV)

4) (A, (B)-I), (O-1V), (D))
Options :

878270106121. 1
878270106122. 2
878270106123. 3
878270106124. 4

Question Number : 122 Question Id : 87827026908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List - 1 List - 1I
(A) Surendra Nath Banerjea () My Story
(B) Nirad C Chaudhuri (I) A Nation in Making
(C) Kamala Das (IT) My Unfinished Autobiography
(D) Indira Goswami (IV) The Autobiography of an Unkown Indian
Choose the correct answer from the options given below :

(1) (A0, B-0V), -1, I
@) (Mfll)()( )(HI)( V)
() (A)-, B)-V), (C-{1), (D)-()
(@) (A-QV), B)-, (-, DK

Options :

878270106125. 1
878270106126. 2
878270106127. 3
878270106128. 4

Question Number : 122 Question Id : 87827026908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teit-1 9 geit-11 &1 e #ifer

(
(
C) Al 3 (Il
) gfew T (V) "5 SeEEmTh A T & sfead’
g fou o fomed ® @ W SO 1 9 Fife
(A)-1), (B} (IV), (C)-(D), (D)-(1I)
(A)-(1), (B)-(I), (C)-(mm), D)-(IV)
(A)-(ID), (B)-(IV), (C)-(I), (D)-(II)
(A)-(IV), (B)-1I), (C }(HI (D)-(1)
Options :

878270106125. 1



878270106126. 2
878270106127. 3

878270106128. 4

Question Number : 123 Question Id : 87827026909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
(A) Sringara (I) ~ White
(B) Vira (I)y Grey
(C) Karuna (III) Light Green
(D) Hasya (IV) Yellow red

Choose the correct answer from the options given below :

(1) (A1), (B)-(III), (C)-(1V), (D)-(I)

(2)  (A)-IV), (B)-(II), (C)-(II), (D)-(T)
(3) (A, (B)-(IV), {C}-{II} (D)-()
@) (A1), (B)-(I), (©O)-(1V), (D)-(11)
Options :

878270106129. 1
878270106130. 2
878270106131. 3

878270106132. 4

Question Number : 123 Question Id : 87827026909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teil-1 3 G- =1 e wifs

Teit-1 TEl-11
(A) #m Iy 9%
(B) @R I ==
(C) e (II) BRI &1
(D) ®= (IV) diet-emel

e fau T fosredi § | W& SO F F99 i
(1) (A)-(1), (B)-(), (Q-(NL (D)-(1)

(2)  (A)MIV), (B)-(), (©)-(W), (D)-(I)

(3) {A) -(II), (B)-(IV), (C)-(11), (D)~(1)

@) (A, (B)-(L), (O-(1V), (D)-(I)
Options:

878270106129. 1

878270106130. 2

878270106131. 3

878270106132. 4

Question Number : 124 Question Id : 87827026910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - 11
(A) Patrick White (I) My Son's story
(B) Nadine Gordimer (I) Voss
(C) Margaret Atwood (III) Love in the Time of Cholera

(D) Gabriel Garcia Marquez (IV) Surfacing
Choose the correct answer from the options given below :
(1) (A1), B)-D, (©-1IV), (D))

(2) ( A)-(D), (B)-(II), (C)-(I1D), (D)-(IV)
{3} (A)-(IV), (B)-(I), (C)-(I1), (D)-(I)
)

(A)-(II), (B)-(II), (C)-(IV), (D)(T)
Options :

878270106133. 1



878270106134. 2
878270106135. 3

878270106136. 4

Question Number : 124 Question Id : 87827026910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geit-1 9 Wei-11 =1 fier it
eit-1 Heit-11
(A) Ufes =mwe O “mEweeEd”
(B) e Mg (I ‘‘arg”’
(C) #rie Tgs () *'a 39 g <39 A6 Hie
(D) Hifsrre mid=n Anes (Iv) ‘g’
ﬂ%ﬁqmﬁﬁﬁﬁﬁnﬁwwwaﬁm:
(1) (A1), (B)-(1), (O-1V), (D)-(I)
(2)  (A)-@D), (B)-(I), {C -(I10), (D)-(IV)

)
() (A)-V), B)-0), (O-(), (D)-1])
(4) (A}, (B)-(1), (©)-AV), (D)D)

Options :

878270106133. 1
878270106134. 2
878270106135. 3

878270106136. 4

Question Number : 125 Question Id : 87827026911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(A) Malik Mohammad Jaisi (I)  Sahitya Lahri
(B) Surdas (I)  Ratan Khan
(C) Maluk Das (III) Satsai
(D) Biharilal (IV) Akhirt Kalam

Choose the correct answer from the options given below :
(1) (A)-I), B)-(), (©)-(), (D)-(1V)
(2) ( A)-IV), (B)-(D, (©)-11), (D)-(I1)
{3} (A)-(IV), (B)-(I), (C)-(), (D)-(1)
@) (A1), (B)-1), (©)-(), (D)-1V)
Options :
878270106137. 1
878270106138. 2
878270106139. 3

878270106140. 4

Question Number : 125 Question Id : 87827026911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teil-1 3 G-I =1 faem wifs

geil-1 Geit-11
(A) Hfer gere S (n efed =l
(B) H&H Im “EER"
(C) WewHeH (am e
(D) TRl e (v) * el wam "’

e fau T fosredi § | WE SO F F99 S
(1) (A)-(II), (B)-(II), (C)-(1), (D)-(IV)
{2) (A-IV), (B)-(1), (CO)-(11), (D)-(ILT)
(3) (A) -(IV), (B)-(I11), (C)-(11), (D)~(I)
)  (A)MD), (B)-(L), (C)-(11I), (D)-(1V)

Options :

878270106137. 1



878270106138. 2
878270106139. 3
878270106140. 4

Question Number : 126 Question Id : 87827026912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following works of Tagore chronologically.
(A) Mayar Khela

(B) Goray Galad

(C) Valmiki Pratibha

(D) Raja O Rani

(E) Bisarjan

Choose the correct answer from the options given below :
(1) (B} (E), (©), (A), (D)

2)  (B), (A) (©), (D), (E)

() (©) (A) {D ). (B), (E)

@) (©) (D), (A) (E), (B)

Options :
878270106141. 1
878270106142. 2

878270106143. 3
878270106144. 4

Question Number : 126 Question Id : 87827026912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2R =t Frefafed Fiadl 1 wresragar @
(A) “‘grEr @’
(B) ““TiRere’”
(C) “‘areHifE Hiayr'’
(DY ““weme T
(E) “fagei7"’
9 fou 7o fawedi & 9 W& ST &1 934 Fif9C
(1) {B}:{EJF{ , (A), (D)
2) (B), (A), (Q), ([} (E)
{*) (C)r (A) (D B), (E)
4) (Q), (D) ):(B}
Options:
878270106141. 1
878270106142. 2
878270106143. 3

878270106144. 4

Question Number : 127 Question Id : 87827026913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n English literary canon, there were various movements of poetry. Sequence the following politic
movements chronologically.

(A) Imagism

(B) Aestheticism

(€) Mock-epic

(D) Metaphysical

(E) Petrarchan sonnet

Choose the correct answer from the options given below :

(1) (), D) ©) B) (A)

@ (A) @), D) C) E)
() ©) (©) (A), {), E)
@) (©, (A) (B) D) E)

Options :



878270106145. 1
878270106146. 2
878270106147. 3

878270106148. 4

Question Number : 127 Question Id : 87827026913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

aﬁmﬂﬁmﬁmﬁﬁﬁwm frrfafed Fafoal 1 FeRaTaR FHag Hi

(£
(
©)

(

(E) Ugmh WTE
o fou T fomed # @ W I H T Fifow ;
1) (E), (D), (), (B), (A)

(A), (B), (D), (©), (E)
(D), (©), (A), (B), (E)
€, (A), B), (D), E)

(1)
)
()
(4)
Options :

878270106145. 1
878270106146. 2
878270106147.3

878270106148. 4

Question Number : 128 Question Id : 87827026914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Chronologically sequence the Indian Women poets/novelists.
(A) Baby Kamble

(B) Kamla Das

(C) Kiran Desai

(D) Toru Dutt

(E) Sarojini Naidu

Choose the correct answer from the options given below :

1) (B, D) ©) B) (A)

2) (), (D), (B), (A) ©
3) (D) E). (B), (), (A)
4) (D), (E) (B), (A), (O
Options:

878270106149. 1
878270106150. 2
878270106151. 3

878270106152. 4

Question Number : 128 Question Id : 87827026914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g s Afeen e/ STaEERl F1 FEERITER H9d98 B
(A) &t FHrEet

(B) HHeH T

©) oo <me

(D) dEed

(E) TSI g

(1)  (E), (D), (©), (B), (A)

2) (B), (D). (B), (A), (O)
{%} (D), (E), (B), (C©), (A)

4) (D), (E), (B), (A), (O
Options :

878270106149. 1



878270106150. 2
878270106151. 3
878270106152. 4

Question Number : 129 Question Id : 87827026915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange chronologically following period of Indian Literature.
(A) Patronage of the Entrepreneur
(B) Literature of Religious Patronage
(C) Literature of Royal Patronge
(D) Patronage of the Reading Public
hoose the correct answer from the options given below :

&
1) (©) {B) {'} (D)
(

) (©), (B), (D), (A)
@) (A, { ‘ C}; (D)
4) { ), (C), (B), (A)

Options :

878270106153. 1
878270106154. 2
878270106155. 3
878270106156. 4

Question Number : 129 Question Id : 87827026915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gt wifecd & Frefafad sl 1 FEar $i)
(A) SEfaal @1 deer

(B) it HI& = Hifeed

(C)  TSTHT HIL&UT YT Hifeed

(D) UISsh BRI HLE&TU YT A
ﬁﬁqwﬁaﬁﬁﬁnﬁtwwwaﬁﬁq:

(1) ) (B), (&), (D)
(2 ), (B), (D), (A)

)

(3) (AL (B). (©), (D)
(4) (D) (Q), (B) (A)
Options:
878270106153. 1
878270106154. 2
878270106155. 3

878270106156. 4

Question Number : 130 Question Id : 87827026916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Western modernity is a development through phases. Sequence the phases chronologically.
(A) Industrial Revolution

(B) Renaissance

(C) Reformation

(D) Enlightenment

Choose the correct answer from the options given below :

1) (&) @) © O, F)

@) ( c ) (D), (4), ®)

@) (©, ) () (4) E)
@ {),0)©) @A) E)

Options :
878270106157. 1

878270106158. 2



878270106159. 3

878270106160. 4

Question Number : 130 Question Id : 87827026916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e 3Mfehal T =vEg fawm ©1 = =il =i Sesraan 1|
(A) it it
(B) SR
(C) HHEHUR
(D) YaIEA
(E) «fiwel <l =t anyferdn
ﬁéﬁqwﬁaﬁﬁﬁﬁﬂﬁwaﬁwaﬁﬁq:
(1) (A), ( ), (D), (E)

) (B), {C {D} (A), (E)

) { ), (D), (B), (A), (E)

) B), (D), (C), (A), (E)

Options :

878270106157. 1

878270106158. 2

878270106159. 3

878270106160. 4

Question Number : 131 Question Id : 87827026917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Sequence the authors - [rawati Karwe, Girish Karnad, Namita Gokhale, Dharamvir Bharati - with
the books they authored :

(A) Andha Yug

(B) Tughlug

(C) The Puffin Mahabharata

(D) Yuganta

Choose the correct answer from the options given below :

() O B) ©) (4)

Options :

878270106161. 1
878270106162. 2
878270106163. 3

878270106164. 4

Question Number : 131 Question Id : 87827026917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EXd

) ua mﬁ:{ WH
(D) ”W”

Options :

878270106161. 1



878270106162. 2
878270106163. 3

878270106164. 4

Question Number : 132 Question Id : 87827026918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sequence the genres - Fantasy, Epic, Fairy Tale, Fable - with the books given below :
(A)  Snow white and the Seven Duwarfs

(B) Cat Guarding Geese

(C) Odyssey

(D) Harry Potter

Choose the correct answer from the options given below :

1) (©) D) (A). (B)

@) (D) (©) (A) (B)
() (A), (B), (), (D)
4) (B), (©) (D) (&)

Options :

878270106165. 1
878270106166. 2
878270106167. 3
878270106168. 4

Question Number : 132 Question Id : 87827026918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et fareme- e, werhren, Tisen a1 SRIfoe o1 1 g S TEEE H
(A) "'Fi®Ee WS T Hod sarh’

(B) ‘‘&e mén "’

() “ereH”

(D) ‘&R

= fau T fowedl § 9 GE I 1 95 HI9C

1) (©), (D), (A), (B)

2) (D), (©), (A), (B)
(3) (A), (B), (©), (D)
4) (B), (O), (D), (A)
Options:
8782701061665. 1
878270106166. 2
878270106167. 3

878270106168. 4

Question Number : 133 Question Id : 87827026919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sequence the books in chronological order of their being written :
(A) Stephen Gosson's Abuses of Poetry

(B) Samuel Taylor Coleridge’s Biographin Literaria

(C) Plato’s The Republic

(D) E.R. Leavis The Great Tradition

(E) William Wordsworth's Lyrical Ballads

Choose the correct answer from the options given below :
1) (©), (A), (B), (), (D)

@ (O (&), B) (B) (D)

(3) (D), ©) (B), (A), (B}

@) (C), (B), (B), (D), (A)

Options :

878270106169. 1



878270106170. 2
878270106171. 3

878270106172. 4

Question Number : 133 Question Id : 87827026919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad 5! & 376 FAFITaE Had9E T |
(A) HEA MEA — T orE T’

(B) IS TR Freilsl — ‘T friian
(C) w™a — g Rufarw"

(D) TF. AR ©feqw — ‘g 72 2o’

() faferm aguad — “‘fafea dogg’’
ﬂ%ﬁqwﬁaﬁﬁﬂﬁﬂﬁﬁ?wwaﬁm:
1) (©), (A), {B (E), (D)

@ © {"’k (E), ( ) (D)

3) (D), (E) (B}

4) (©), {B) (E), (D), (A)

Options :

878270106169. 1
878270106170. 2
878270106171. 3

878270106172. 4

Question Number : 134 Question Id : 87827026920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Chronologically sequence the authors/ poets :

(A) Sophocles

(B) Plautus

(C) John Dryden

(D) Oscar Wilde

(E) Horace

Choose the correct answer from the options given below :

(1) (A) (B), (E), (©) (D)

(2)  (E), (A) (B), {C) D)
(3)  (B), (A), (B), (D), (O
4)  (B), (E), (A), (D), (O

Options:

878270106173. 1
878270106174. 2
878270106175. 3

878270106176. 4

Question Number : 134 Question Id : 87827026920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=1 TrEwiwfadl I SRR FHEs H
(A) HRERE

(B) Wi

(C) M R

(D) SR TS

(E) @™
ﬂ%ﬁqmﬁaﬁﬁﬁ‘ﬂﬁt?ﬂ?mwaﬁﬁq:
1) (A) (B). (E), (C),

) (B) (A), (B), (C), {D}
{%) (B). (A), (E), (D). (

@) (B), (E) (&), (D), (C}
Options :

878270106173. 1



878270106174. 2
878270106175. 3
878270106176. 4

Question Number : 135 Question Id : 87827026921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Arrange the following chronologically :

(A) Sahityadarpana by Visvanatha Kaviraja

(B) Candraloka by Jayadeva

(C) EKavyalankara by Bhamaha

(D) Aucityn-vicara-carca by Ksemendra

(E) Dhavanyaloka by Anandavardhana

Choose the correct answer from the options given below :

(1)  (B), (A), (D), (), (E)
) (D), (B), ( }{F’L (E)
@) (O, (E), (D), (B), (A)
@) (B, (D) (B), (4), (O
Options:

878270106177. 1
878270106178. 2
878270106179. 3

878270106180. 4

Question Number : 135 Question Id : 87827026921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FHIATIHH & AFER 11 =1 wHas FL|
(A) ‘@ifeesdr’ — fagamy et
(B) ‘‘TEoiw — SHE<E
(C) “‘FrFrcaER — qHE
) “aiifarr-faar-TE T — s
(E) ‘‘eFgcne’’ — TGy
= fau o fasredi § 9 W@ IO 1 =99 wife

1) (B) (A) D) ©, ()
@ O ®B)© &) (E)
(3) (©) (), (D), (B)

@) (), D), (B) (A), (C}

Options:

878270106177. 1
878270106178. 2
878270106179. 3

878270106180. 4

Question Number : 136 Question Id : 87827026922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Michel Foucault has suggested that there are only two forms of comparison : the
comparison of measurement and the comparison of order.

Statement 11 :  The comparison of measurement establishes the simplest elements and arranges
differences while comparison of order analyses into units in order to establish
relations of equality and inequality.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

©)

(4) Statement I is incorrect but Statement II is correct

Statement 1 is correct but Statement 1l is incorrect

Options :



878270106181. 1
878270106182. 2
878270106183. 3

878270106184. 4

Question Number : 136 Question Id : 87827026922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬂ%ﬁwﬁum%:

oM (1) : e ! 7% g <0 © o T ) et e Gva R e ) e o o i e

oM (11) : TR e A e b R € 9 Tl ) g €, St w % e
T A & FH H AT F WA S S % W i g

T e e H, el few T feret 9 Wl I = i

1) FOR AR FIA G 79

2) A1 S oM 11 S 9 §

(3) 1T 2, ol ke 11 379 &

3)
(4) I A 2, A HIF A &

(
(

T

Options :

878270106181. 1
878270106182. 2
878270106183. 3

878270106184. 4

Question Number : 137 Question Id : 87827026923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  New Historicism 15 a comparative methodology in which only the process of
comparison takes place across time boundaries rather than across geographic
ones.

Statement 11 :  Stephen Greenblatt suggests that New Historicism does not involve Literary Text
in its study.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement I is incorrect
)

Statement 1 is incorrect but Statement Il is correct
Options :

878270106185. 1

878270106186. 2

878270106187. 3

878270106188. 4

Question Number : 137 Question Id : 87827026923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FH fum g

T (1) : 79 SRR T QoI TG10 ¢ [ 5 o] 1 Jsnal Sifcren e it 104 o TEM
& Ty T T oy R

T (1) : HiwA Fee o <d 1% 8 3 i o e § Wit we i gitfen @
ERGI

T B % AT H, A T T fomed § ¥ W I T A
(1) A1 SR FoR 13 5§

(2) e SR H I I A9 &

&)

)

%) HYA T €, o HY 1 A T

(4) TR FEA 8, ol FHU U TA T
Options :

878270106185. 1



878270106186. 2
878270106187. 3

878270106188. 4

Question Number : 138 Question Id : 87827026924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Thomas Davis was an Irish writer and founder of The Nation.

Statement I :  Glanville Price in his book The Languages of Britain specifically excludes the Irish
of the Republic of Ireland and recognises the implications of the term Britain,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4)  Statement I is incorrect but Statement II is correct
Options :

878270106189. 1
878270106190. 2
878270106191. 3
878270106192. 4

Question Number : 138 Question Id : 87827026924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TS Fo feum §:
T (1) 9T STo0 TS o O 9 TN & G 9
T () : T TIEH S T, '3 cfeie Al oot H Ametne s v e i g fae

% T8 I 0 < R
TG H & el ¥, T fen T femedt 4 wh I i
(1) HIA1 R o 11 7 &

(3) HUTITA E, AR HI I A T

1)

(2) e 1 3R HA 11 S 9 ©

3)

(4) T A 2, A FITU A

Options:

878270106189. 1
878270106190. 2
878270106191. 3

878270106192. 4

Question Number : 139 Question Id : 87827026925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : As much as the West itself, the Orient is an idea that has a history and a tradition
of thought, imagery and vocabulary that have given it reality and presence in
and for the West.

Reason (R) : It would be wrong to conclude that the Orient was essentially an idea or a creation
with no corresponding reality.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3)  (A)is correct but (R) is not correct
)

(4)  (A) is not correct but (R) is correct

Options :

878270106193. 1



878270106194. 2
878270106195. 3

878270106196. 4

Question Number : 139 Question Id : 87827026925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e & Fo U U & O aHfirRem (A) % &9 ¥ foffld § o GO 30 R0 (R) FFIH B

A (A) e 3 A 8, e foren e feram & Foven o ofvre v o, v & femardorn
1 TR & ol 58 wfem o el o & o 58 ot ol sufefa firef £

FWOR): T8 el o B ek e o vhferer &9 9w e @ ot # e v @
B TH T R

T FU & e o, 9 fou T fomet 4 W I 9 i

(1) S (A) 3R (R) T & 3R (R), (A) I 56 e

() o (A) 3T (R) T & o (R), (A) T 9@ e T

(

)
)
(3) (A) T E o (R) 379
4) (A) %9 B, R (R)TA €
Options :

878270106193. 1
878270106194. 2
878270106195. 3

878270106196. 4

Question Number : 140 Question Id : 87827026926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The criterion of deciding the nationality of a writer is linguistic.
Reason (R):  Nation state is a political entity

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct
(4)  (A) is not correct but (R) is correct

Options :

878270106197. 1
878270106198. 2
878270106199. 3

878270106200. 4

Question Number : 140 Question Id : 87827026926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3 e fou T E: v sfueRem (A) % w9 ¥ fafed § T T 36k SR (R) FETH €
RS (A) : TRt off i 1 T o R @ ST T R

I (R) : T2 T (F9F BT) Tk Toiviifoeh T & |

T B & el §, A fou T famedt & wé I = Fifew

(1) M (A) 3R (R) T4 3 (R), (A) T T& =00 ©
(2) TH (A) 3R (R) T T @l (R), (A) F T = @G
(3) (A) ¥ E, T (R) 59§

)

(4) (A) 5 B, o (R) T §

Options :
878270106197. 1
878270106198. 2

878270106199. 3



878270106200. 4

Sub-Section Number : 2
Sub-Section Id : 8782701165
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827026927 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Paul Van Tieghem, of the French school, distinguished between ‘Comparative Literature’ and
‘General Literature’, The former is “confined to the study of interrelations between two literatures
while ‘general’ literature is concerned with the movements and fashions which sweep through
several literatures” (Wellek, 1959 283). Fernand Baldensperger, leader of the School, had no use for
comparisons which did not involve “a real encounter” that has “created a dependence” (Wellek,
1970 16). The French insistence on two elements (‘etudes binaires’) banned many prospective areas
of comparison as “exclusion zones” (Bassnett, 1993 27-28). You can realize the anomaly for yourself
when you are told that French and German authors can be compared, but not a Canadian and a
Kenyan, for the latter two write in English (Bassnett, 1993 28). Another problem ensuing from the
French dogmatism is the reduction of comparison to a study of sources and influences, causes and
effects, ignoring the totality of a work of art (Wellek, 1959 283-285). Further, the approach was
author-centred and hence excluded oral literature, anonymous literature, folk literature, etc.

Sub questions

Question Number : 141 Question Id : 87827026928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the author of the passage, ‘etudes binaries’ banned many prospective areas of
comparison, because :
(1)  Itis one thing to be enthusiastic about Comparative Literature, but its pedagogy is impractical.

(2) There are many exclusion areas in Comparative Literature.
(3)  Evolving methodologies of comparison are complex and outdated.
(4)  The various emerging schools of Comparative Literature are antithetical.

Options :



878270106201. 1
878270106202. 2
878270106203. 3

878270106204. 4

Question Number : 142 Question Id : 87827026929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Author-centric approaches lack coherence and cohesion, because :
(I) When something is assigned to an academic discipline, it loses its originality.

(2) Different versions of multiple authors may affect our point of view.
(3) Most authors react against political and cultural changes in any given society.
(4) They tend to exclude oral literatures, folk literatures, ete.

Options:

878270106205. 1
878270106206. 2
878270106207. 3

878270106208. 4

Question Number : 143 Question Id : 87827026930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - I1
(A) Paul Van Tieghem (I)  Leader, French school
(B) Fernard Baldens Perger (II)  Member, French School
(C) Wellek (III) Exclusion Zones
(D) Bassnett (IV) Problematizing French Dogmatism

Choose the correct answer from the options given below :
(1) (A0, (B)-), (), (D)-(V)

2) ()(  (B)-(, (©)-(), (D)D)

(3) (AW, (B)-(), (C)-AV), (D)-(i1])

(@) (A, (B)-(m), (©)-AV), (D))

Options :

878270106209. 1

878270106210. 2

878270106211.3

878270106212. 4

Question Number : 144 Question Id : 87827026931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The rigidity of approaches with a tendency to dominate is what Wellek famously called, "The crisis
of Comparative Literature’. By this he meant :

(A) Lack of inclusivity

(B) Lack of flexibility
(C) Lack of research and training
D)

(

E) Lack of compassion to the writer

Lack of a proper methodology

Choose the correct answer from the options given below :
(1) (B)and (C)

(2) (A)and (B)
() ()and )
(4) (A)and (E)

Options :

878270106213. 1



878270106214. 2
878270106215. 3

878270106216. 4

Question Number : 145 Question Id : 87827026932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The French comparatists attempted to be extremely flexible in their approaches
to the texts and cultural ethos of the regions.

Statement I1:  The basic problem arising out of the French dogmatism is the reduction of

comparison to a study of sources and influences, causes and effects, ignoring a
comprehensive approach.
In the light of the above statements, choose the most appropriate answer from the options given
below :
) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct
Options:
878270106217. 1
878270106218. 2
878270106219. 3

878270106220. 4

Question Id : 87827026927 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827026928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) eI Wifeed H g afvid 451 T T ¢

(3) T @ T @ o ew AR A ¢

(4) oo Hiieed o g el et TWER Sl €|

Options :

878270106201. 1
878270106202. 2
878270106203. 3

878270106204. 4

Question Number : 142 Question Id : 87827026929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) T, Fa Wieed AR AF W H A F ¢
Options:
878270106205. 1
878270106206. 2
878270106207. 3

878270106208. 4

Question Number : 143 Question Id : 87827026930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i1 8 gEit-11 1 frem ifa;
eI Tef-11
(A) T 99 FTH (I) =, P e
(B) TS ACTSHITR (I) SE™, i e
(C) el (Il) TS BT (TFHesH S
(D) TFE (IV) WisE w@rate T faw (Teererhm)
e fou o foeedt o @ W IR 1 T Fife0
(1) (A)-D, (B)UH (C)-(I), (D)-(IV)
(2)  (AHIV), (B)-(II), (O)-(1), (D)D)
() (AHD), ()() (C)-(IV), (D)-(II)
(4)  (A)@), B)-(Hm), ([C-IV), D)D)
Options :

8782701062009. 1
878270106210. 2
878270106211. 3
878270106212. 4



Question Number : 144 Question Id : 87827026931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106213. 1
878270106214. 2
878270106215. 3

878270106216. 4

Question Number : 145 Question Id : 87827026932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106217. 1
878270106218. 2
878270106219. 3
878270106220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701166
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827026933 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Translation 1s an intergral part of Comparative Literature in a theoretical sense. Comparative
Literature implies studies of texts from two or more different languages at a basic level. Even if one
is a polyglot, and is conversant with two or three languages of the texts s/he is dealing with, in
practice, the different texts are being spoken of or written about only in one of the languages. You
might know Marathi and Hindi, but if you are discussing a Marathi poem in Hindi or a Hindi short
story in Marathi, or you are speaking in or writing about in English about the Marathi poem and
the Hindi short, you are engaged in a translation activity. The ideas and emotions, and the texture
of the language are discussed in a language other than that of the text in question.

Sub questions

Question Number : 146 Question Id : 87827026934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The basic activity of Comparative Literatures is :

(1)  Understanding the intricate relationship between languages, thus, assigning ‘power” to
translation.

Creating a data base of Indian languages through only translation.

A critical understanding of “weltliteratur’,

(4) A comparison between translation and transliteration.

,.-—\,.--\
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N

Options :

878270106221. 1
878270106222. 2
878270106223. 3

878270106224. 4

Question Number : 147 Question Id : 87827026935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

By writing, “translation is an integral part of Comparative Literature in a theoretical sense’, the
author emphasizes the aspects of translate vis-a-vis :
(1)  Postcolonialism

(2) Liberalism
(3) Multiculturalism
(4) Globalization



Options :

878270106225. 1
878270106226. 2
878270106227.3
878270106228. 4

Question Number : 148 Question Id : 87827026936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Ifyou are writing in English about a Bengali poem, you are engaged in a translation
activity.

Statement 11 : It you are doing a research project on the many languages in India, you are
engaged in a translation activity.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3)  Statement I 1is correct but Statement Il is incorrect
)

(4)  Statement I is incorrect but Statement II is correct
Options :

878270106229. 1

878270106230. 2

878270106231. 3

878270106232. 4

Question Number : 149 Question Id : 87827026937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



By the term "Polyglot’ the author means:

(A) a person who understands the emotions of a language

(B) a person who comprehends, all the texts of a given language

(C) a person with empathy for the marginalized and endangered languages
(D) a person conversant with multiple languages

(E) a person having an understanding of two or three languages

Choose the correct answer from the options given below :

(1) (A)and (B}

) (©)and (D
(3) (A)and (C
(4) (D) and (E)
Options :

878270106233. 1
878270106234. 2
878270106235. 3
878270106236. 4

Question Number : 150 Question Id : 87827026938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : By being equipped with the translation theories, the researchers can compare,
judge or even evolve their own theories in the context of Comparative Literature.

Statement (II) : The issue of translation is not confined to works of literature in two languages; it
also holds good for a story or a novel that is made into a film, even if both are in
the same language.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect
)

Statement | is incorrect but Statement 11 is correct
Options:
878270106237. 1

878270106238. 2



878270106239. 3

878270106240. 4

Question Id : 87827026933 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827026934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
gt gifecd ot Hiferer Tfafafer &
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Options :

878270106221. 1
878270106222. 2
878270106223.3

878270106224. 4

Question Number : 147 Question Id : 87827026935 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270106225. 1
878270106226. 2
878270106227.3

878270106228. 4

Question Number : 148 Question Id : 87827026936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270106229. 1

878270106230. 2

878270106231. 3



878270106232. 4

Question Number : 149 Question Id : 87827026937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

g ¥1e8 | @ I WA ©

(A) G Afad S st & rEed B J9gd |

(B) o =faa =1 ot e  formg o |edfy wieff =t wosran 2
(C) =& =afaa i1 forelt s o forg o wdt el =1 o =)
(D) =€ oAferi Sl h§ AT I S 2 |

() o2 =fa St S A1 <= arenedi <1 Sear 2

= fou g fomedi § | WE I 1 F5H T

(1) = (A) R (B)

(2) = (C) R (D)

(3) w9 (A) 3R ()

(4) el (D) 3T (E)

Options :

878270106233. 1

878270106234. 2

878270106235. 3

878270106236. 4

Question Number : 150 Question Id : 87827026938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106237. 1
878270106238. 2
878270106239. 3
878270106240. 4



